L
y

S sk iatt
SHINKOKIKI Co., Ltd.




Bix

Fy UYL Y)LEE
Frvb— 2 (2
PCFvIRLwiH— 3 @
TRM R—JLEER N v — NS
BTD R—RF v IERAR—IVEBR RN v — 5 8
CRM-117 R—JLASBUS BT w T R v — 6 [d
SK-10D Ri—/LEREUIEIF w T R v — 7 A
SK-11D R—JUEBEUTEIF v T R wH— 8 &

FryIFy IXREE T8
PCFvIFIvIv— (ORYSA V) 0 (2
FryIFvIIRTE

DY vFE vy TFvIHNL 2 [
HLOM 2 (2
FrvIFVINL FrvTFvIHULW KBNS
EODHE 13 (2

SEMO RS

FvNRIVNT 4 —F—
RS IR E
TIZwvIR IR E
25— 17 |4
AX—h 18 [
A = 19 [
AIO—~YR/ LRI — 20 [d
F—hrys— EIE
F 54 TRILNT4—5— 22 |4
ChZ B 23 [
N FEBEBEILF Ry h1 2y b 24 (m)
RSB AI Y I—H—F«T 26 [d
FISERBAYYY— FS-AD-01 (D> Uty hETIL) 27 [
HAR—HEBEN T 7 — B S )\ — 28 [
I7—I 1w AV MERLER FMC-AJO2 28 [
I7—YrvhlEEREYY—E FMC-AJO3 29 [d

REYIEEE (US40

JOYVzovavryh/RILbEy NPy T AR EE

PC FR&— 32 (2

FvhPCFRI—TF 34 (2
JOYVzovavrvbhty NPy IABHBEES

FyhSYF— 3% [
JOYVTovavRILhEY NPy I RBRIEE

RILNS > — EE
=2 HvhU—X

Fw hREEE FNK-2C 37 [
Ty NPy I RBHIER

Mr.X003 38 [

Mr.X002 39 [

Towyv—IvwvI 40 4

Zofth
Dlds 42 |4
REKKBEREE Dr—5—U—h 42 |4

R<HFEER B



CONTENTS
Tip recycling equipment
Cappy

PC tip dresser

TRM drilling machine dresser

BTD dedicated drilling machine dresser for base tip

CRM-117 drilling machine mounted tip dresser

SK-10D drilling machine mounted tip dresser

SK-11D drilling machine mounted tip dresser

0] 0ln|n]uv)T]T;

Cap tip change/tool

PC tip changer (for robot line) 10 (=
Cap tip change tool
One-touch cap tip removal 2
Eagle claw I P
Cap tip removal / Cap tip removal W 1B Q
Bird's eye 13 (@
Productivity enhancer
Nut/Bolt feeder
Dragon 15 [3
Phoenix 16 [
Star 17 [3
Smart 18 [
Bamby 19 [
Yellow head/Red cylinder 20 [d
Auto shutter 21 [d
F type bolt feeder 22 |4
Pin-no-suke 23 |4
N type switchable electrode Multi-spot unit 24 (m)
Welding shots number management counter Guardian 26 [
Welding shots number management counter FS-AD-O1 (one-preset model) 27 |4
Air blowing device with timer function Hurricane 28 [
Air jet Gun pressure specification FMC-AJO2 28 [
Air jet Magnetic sensor specifications FMC-AJO3 29 E
Quality judgement equipment (30840)
Projection nut/bolt setup defect detection equipment
PC tester 32 (=
Nut PC Tester Petite 34 (3
Projection nut setup defect detection equipment
Nut runner 3B [3
Projection bolt setup defect detection equipment
Bolt runner N
Miss-cut series
Nut missing detection equipment FNK-2C 37 [
Setup fault detector
Mr.X003 38 [
Mr.X002 39 [
Pressure judge 40 [
Other
Swallow 42 |4
Cooling water volume monitoring equipment Water gate 2 [d

Maintenance/Consumable parts list



| ———
9‘ 4 7 U .U.’fa' bglﬁ Tip recycling equipment

Fv JEBRE T HcHDERETT,
FHYATHSHIH A TEXTHEFRD-—XICHolcNm%Z
X CHDET,

ent for re-polishing used tips.
A wide range of products, from manual to automatic types, to

r customers' needs.

B OREF vy ITFy ITRRERBRIEA—E

List of our standard cap tip shapes and their application by product

N @ | D

wE— . .
;&; O Bt ¢ O O
s 0 % ¥ O 0
TRM O N O O O
CRM-117 O A x O O
SK-10D O O X O O
SK-11D O O x O O

O #EAA A RFREX X EAART % ZHEHR

O Applicable 2 :Special order X :Not applicable % :To be discussed



SHINKOKIKI

[ FryE—

W
Cutter blade

 Hus—5 )
AvIT—H

WOD-4U

TSR
Polishing part

Chuck shank

Ty I DED

polishing cap tip

\_

( FrwoTwID )

BERFrYIFvI%Z

The part where sets

J

15 Features)

Cappy

(GBI %A TV )
Tip detection part 3% Option

Fy UYL T VKRE

Tip recycling equipment

P

SRz IR, VIHRREODAIE
Tip shape
Measurement of cutting conditions J

=

Al

\_

(= T—5— )

Parts feeder

BERAFvvIFvIE

Polishing cap tip
Input port

WOD-5

_J

HHRER
Supply part

BEAFvvIFv IR

S ey i)

The part where supplies polishing

cap tip

~

_J

FvvITF v ITRmEBOBMEZEE TTL. MEBRORT(CLDE?,
HvEF—HF. B 1 RN ZER,

Fully automated re-polishing of cap tip tips, sorted by length after polishing.
The cutter blade uses a single carbide blade.

{Ti% Specifica:timon

NETE D 750 750

External dimension W 1481 1250

(mm) H 1662 1500

= £ Weight (kg) 500 420
FrwTFvIBEEXLE Automatic cap tip feeding -
tIEIEAIE Cutting length measurement g

22 s BB 2 &R (21mm BLE 21mm i)
4 Ievelsjgiiﬁng gngxf:%llection Sorting and collection 2 levels
3 BE Function (21 mm or more/less than 21 mm)
*FvwIFvIHEEEE Cap tip insertion/removal -
A Vv 2FT  Insertion: Shank method HNF+woHI Outer chuck method
fi&E  ABMEBEMICKST I -
Detachment: Leveraged by movable and fixed pawls
ERET _ =# AC200V 0.75Kw
Control voltage AC200 ~220 (V) 50 /60 (Hz) Three-phase AC200V 0.75Kw
T & HEEEE -
Rated value ower supply voltage bCz24v
JZ=
F{%Eﬁms?d [E#aZes Compressed air (0.4 ~ 1.0MPa) [E#EZe& Compressed air (0.5MPa)
®m B A BH B E 0~ 40T (BL. BERUBELENT L) -
Operating ambient temperature 0 to 40° C (with no freezing or condensation)

BRAFvYy IFvITERK ARl PRI FRL REI (), E& () -

Applicable cap tip shape

Type A, Type P, Type F, R type (%), E type (%)

2041/ H et Parts/Consumables)

Seimis
Tip detection

HERDF vV ITFvIDEIHREIRODESZHE
Tip detection judges whether the tip shape of
the cap tip is good or bad after polishing

¥ TAEX % Further discussion needed

$HwS—3H Cutter blade P.44, P45
HwH—iJLH— Cutter holder P.46
Fyvov>7 Chuck shank P.46




o

» . W | Ax
ﬂ:’C FyvITRLyH— PC tip dresser ?fp’rzyﬁl?njgﬁﬂ&?ﬁ @

TP—J0—) 1T (A T¥3Y) R Features
/// A ) VI NTBDEDS, I\ NI —EE— 5 — 5,
KA w5 —7K )L —(C KD THIDEE O L
BRBox - TEBSIEIAEIAE.
ATV pys—Fl, BE—KHERA.

s/ | PoMTSUONBOC 5 & RIS —DA D54 I TR [CED. FFF v TICH

Main unit ‘/ L/—C_i’;]—@jj—c_‘tﬂ‘ﬁ”ﬂu]:b\‘\ﬁjﬁgo
HwI—HILE—%& FFRP UV I TER DHEICKD, BRER
OB T A AT A,

EROER. 5 MUY Ry Y —(C KD UIEIREDOXIEEE.
X ETREAKS
Compact, yet equipped with a high-power motor.
Large cutter holder reduces tip clogging.
Simultaneous upper and lower polishing is possible.
24 (25 R) The eqgualizing fu.nction* of the cutter ho'lder enables polishing with
(FTv3) uniform force against the upper and lower inserts.
Stand (Option) The cutter holder is supported by upper and lower bearings, enabling
high-precision polishing.
High-speed spin and high-torgue dresser significantly reduce polishing
time.
% Shock mitigation mechanism

{14 Specificat:i:on

o, B ® Ml T76
JAER A SE D 579
== a External dimensions W 398
ey (mm) H 700
r *: : - BRBE AC200V 415V (50Hz)
L Power supply voltage AC200V 430V (60Hz)
W & 73 Output 0.75kW 4P
@ #5 # Revolutions 460  560rpm (50 / 60Hz)
YIHIEER]  Polishing time 0.3~10# 0.3to1.0sec.
- 10 FE R _ _
IE" ! i Sellsli e e e 1078 ~1470N / 110 ~ 150kgf
| ' I Q13 FF 016 F v IF v KR REED)
g l , | f AT Target tip 13 or ¢ 16 cap tip (special shape can be manufactured)
T S S e = .
4 PR CAHAY/ XAV A=AV H—R-ITFHY)
\ D TR EU C gun / X gun / straight gun (servo, air gun)
| BRFvYIF VIR AR, PR FR
\ BT STl T Applicable cap tip shape A type, P type, F type
e : ¥ A= ZRE - U8 Box BT

% Dimensions = Including stand and cutting powder box

24/ HRE S Parts/ConsumabIe!s’
~ #AJvavopton /MR Function/Applicaton

B8R Box Power Supply Box —
285 (RFVR) Stand —
Tr7—2JO—/)\L7 PIHIBRIC T 77— WRERFUIHDED & A S ED
Air blow valve Blows air into the polishing part to reduce tip clogging
AEA ITA Y VI RERE YPHIMN TR DEEZIRIN. FEHT D
Main unit equlizing function Absorbs and mitigates shocks during poloshing
$1w4&—3H Cutter blade P.44, P45
Av45—itkJLF— Cutter holder P.46

RSF - 248 - (BEOER(ICIE. RECEED [HFONTVD VU P ILESZHMSELIEEL,
For maintenance, inspection, and repair, please inform us of the serial number attached
to the main unit.



SHINKOKIKI ()

ﬁ RM HR—LEXRLwH— TRM driling machine dresser ?fp",gy'ﬁlgg’gﬂé’rﬁ% @

15 Featuics)

R=)LBEDETOAYDOEZ L v Y —HERNEBICH DA M
BOIRNL. FURBOEE Y ZEE,

AvE—=H. RV —DIRTH v v TF v TH S FEREBEEE T
1BIL Bz T D N ERE.

HBIE 1 N ZHRA (REEE 800rom).

A guide mechanism inside the dresser body absorbs the vertical
rattling of the drilling machine to reduce chatterimg during
polishing.

A wide range of polishing from cap tip to lower electrode is
possible by replacing cutter blades and holders.

Single carbide blade is used (optimum spin speed: 800 rpm)

{48 Specitication)

FLyB—AwR

Dresser head

sk | W | 055
External
dimension H 128
(mm) A ®13
RLwH—~—2 = o0
Dresser base AFT3E W 200
External
dimension H 79
B 2-914

BA+ v v IFITRAR

AR ER PR, FE

Type A, Type E, Type P, Type F

A T PE@ YA Z Avplicablellower electrodelsize

»25, ¢30

2041/ H#E @t Parts/Consumables)

A bhw)(—HEE  Stopper function | BID I EBAIEDIZHDEMBEIEREEE  Fixed position stopper function to prevent over-polishing

BimR)LY— (FvwTIFvTIH) Electrode holder (for cap tip) P.45
Bh)LY— (FEEMA) Electrode holder (for lower electrode) P45
FPIvZMJ T (FEREMmA) Adjusting ring (for lower electrode) P.45

Hw&5—3H Cutter blade P44, P45




S

BTD X—XFvIgERAR—ILEXRL vT—

BTD dedicated drilling machine dresser for base tip

FLy—~v bk
Dresser head

Hvs5—H
Cutter blade

N—AFvT
Base tip

LS —
Holder

Fyv UYL TIEE @

Tip recycling equipment

R Features)

WD SK-10D O R v I—X—=XI[CERDNILY —, DvF—
NZEO S X—=RXF v TOBMEZARE,

A special holder and cutter blade are mounted to the dresser base
of the conventional SK-10D, allowing the base tip to be re-polish.

{T4% Specifica:tinon

RUwH—AwR Dresser head

SRt E b ¢35
External dimension| H 69
(mm) A 013

K224

KL wH—~—2

Dresser base

BERAN—AF I RAK Applicable

LIRS W-BT-S-1 (06 A)
W-BT-S-2 (¢ 8 A)
W-BT-S-3 (75w hA)
Our standard product: W-BT-S-1 (for ¢ 6)
W-BT-S-2 (for ¢ 8)
W-BT-S-3 (for flat)

2Bt/ SEFE cofth Parts/Consu!:mab:IeDs

DB
Cutter blade

P.44, P45

RN ===
IIIV
N I
§ D
. i
RILS—  Holder
STE W ®20
External dimension
(mm) H 100
i 7
1 T T ]
I NZan ]
< % IS
1]
KL wH—~_—Z Dresser base
D 50
SAFTsE W =00
External dimension| H 64
(mm) A 140
B 2-¢p12
B
| /
l [
—_‘-@— _____ _“{(3%3-_ ______ Ag___ :
| i |
A
W
!
il
N
"
I I T
i
[ T T | % 1 T : T |
T L T




SHINKOKIKI )

CRM-117 R—ILBEGRFyTRL v — YU IIER [
CRM-117 drilling machine mounted tip dresser Tip recycling equipment
Y$E Features

M—)VEICRDHFD T TEEICF v T

F v IO R ADEEE,

Ay REBGHA REZRE L. RURBFOEE U ZER,

RLwH—~AwR HID 15D DETEZ NN T D 148 = k.
Dresser head Ny 5 —RFBIE 1 WHNZEHE.
Cap tips can be easily polished by simply mounting on a drilling
machine.

The head part has a built-in guide mechanism to reduce chatter
vibration during polishing.

Built-in mechanism to absorb the shock at the beginning of polishing.
Cutter blade is used a single carbide blade.

{£4% Specification)

RUwHY—AwR Dresser head

ST LU (D
LS — External dimension | H 95
N Holder (mm) A ®»13
Ny —~—X H
Dresser base
= <
== |
0]
KL wH—~_—Z Dresser base
D 50
SRTiE i 20l
External dimension| H 64
(mm) A 140
kJLY— Holder B 2-9l14
. B
$12.6 |
>—/%— 1/9.6 I W @R\ : g,,g
7 Teper 1/9.6 {} kﬂ} {
T
—— %
i T
[ . '$ — ]
1 i i

ER¥ v v IFUTHAR Aplicablelcapitinishape)  EB41/E¥ES At Parts/Consumables)

AR P#, FE
Type A, Type P, Type F Hw4&—3H Cutter blade P.44, P45




SK-10D R—LERARFyTIRUyY— FyTUBA 0 LEE @
SK-10D drilling machine mounted tip dresser Tip recycling equipment

45 Features

MR—)VEICED NI BT THF vy TF v TDEELFIRE,
IV —DEB(CLD, A ML—hFvTDEESERE

Cap tip can be polished by simply mounting it to the drilling machine.
Holder can be changed to polish straight tips.

:\va.jﬂ:‘yjﬂ'\)ljﬁ— | RLwH—Aw R
Cap tip holder N Dresser head

Ny EF—r—2R
P IEY, (#9012 0139136016 16.6 F)
2 R—hF v TRV — Cutter case
(16-1 /10 -16-1 / 5 ) (for 99, @12, 913, p13.6. ¥16. ¢ 16.6)
¥ Option
Straight tip holder o NYVIA HIAR 2HA
(For 16-1/10 and 16-1/5) Cutter blade

% High-speed steel double blade

INAAVESACSY S
Dresser base

BE Featufnres ;

RUwH—AwR Dresser head

NETE W ®» 36
External dimension H 80 I = <$
(mm) A 012

RLwH—~_—X Dresser base

D 50
BAVIAA D W 200
External dimension H 64 I B
(mm) A 140 [ : |
B 2-p12 D ; . S
| I I
B+ v v IF UIFHAR Aoplicable capitinishape:
AZl RE PAY FAY A
Type A, Type R, Type P, Type F W
Tk Speciﬁcati:o!n’ |
+
D
AR—hF T = -
ANPETY7 | smmmus— (013 /016 M) | | ,
Straight tip holder Straight tip (—— I T

Dedicated holder ( ¢ 13/ ¢ 16 dual use) '

Hw&—3H Cutter blade P44 P45
7w &H—4—X Cutter case P.46




SHINKOKIKI ()

SK-11D MR—ILEBERHEFY TR vH— FyFUYA TR @

SK-11D drilling machine mounted tip dresser Tip recycling equipment

T Featiics)

R—)LVEBICIO MIF BT TF v v TF v TOEIELAIRE,
N—RAFED/\2 BIVZEBIF I TH v v TF v TOEDH UHAEE,

Cap tip can be polished by simply mounting it to the drilling machine.
The cap tip can be removed simply by turning the handle on the base body.

o Sl yii—=Aw |
FrvIFVIRILE— Dresser head
Cap tip holder AW —Ir—2

(p9-012-013-013.6- 016 p16.6 A)
Cutter case
(For 9. @12, 913, 13.6, 916, »16.6)

HNYvE—H ¥ )\(R 28H
Cutter blade
% High-speed steel double blade

N AATESANE VS
Dresser base

R Features)

RUwH—AwR Dresser head
SN W ®»35
External dimension H 69
(mm) A ®13

KL wH—~_—X Dresser base

D 50
SFTsE i 120
External dimension H 856
(mm) A 140

B 2-914 () .

y
[

BRF v v IF YT 4;% -

AR, RE, PH, FR
Type A, Type R, Type P, Type F

T
BB#1 H#E cuft?
Awv4—3H Cutter blade P44, P45

Hw&H—4—X Cutter case P.46




—
:F'V “Jj ;‘yj ﬁmglﬁ/ IE Cap tip change/Tool

VIRBROFEZERITDHDEE TEFFTI,
VD SBEIYA TEC—XICE e RBZIMDHZ THDE T,

t/Tools to reduce the time and effort required to replace cap tips.
A wide range of products to match your needs, from manual to automatic types.




SHINKOKIKI ()

PCFyIFIVIv—

PC tip changer (for robot line)

1EE (18Y)
Horizontal (Type I )
PCA-21DUK-T 2

[PCFYIFIVIv—]
EEfRET!
[ PC tip changer |
Video now available!

sy (IaY)
Vertical (Type I )
PCA-21DUK-I 2

(ORy b1 VA)

455 Features)

BHAUIFILOF v TREARICKD. D
BANERICTE, Fv T vV IDEEZ
BAlE.

LEFTFERBFERODEXICKID., FvTRDEZRE
hiKIEIC 52 .

AVERICEDE., L TERXCEERIED &
ADVET8E

Our original tip replacement system ensures
reliable replacement and prevents damage to
tips and shanks.

Upper and lower replacement at the same time
greatly reduces tip replacement time.

The top and bottom can be replaced at the
same time or individually, depending on gun
specifications.

BEAY (BRED) e IF7AHY, Y—ikAY

BEAY B e CHY, XHY, TEEXAERKE

BRAX YV IFVT v 06E

CFYVITR S BR o, P13 X 20L, 16 X 23L-25L K&

- FV IR A, R E P F&gEEx

I 2007 FmFvT, BEFTVT

VIR A=k, =ZARIVY—, 7—LIE
Compatible models

- Welding Gun (driven) ... Air gun, servo gun

- Welding Gun (Type)......cccccvevvenn. C-gun, X-gun, stationary type welding machine

Applicable cap tip/shank, etc.
- Tip diameter/Over-all length ... 13 X 20L, ¢ 16 X 23L-25L, etc.

~Tip Shape ..o, A, R, E P F type etc. ¥
ST e New tips, polished tips
-Shank shape......cccccooveoeee. Straight, triangular holder, arm, etc.

¥ ZDMDF v ITHARIFERRK
% Other tip shapes on request

BEM
Fixed claw

BJEY/T

Movable claw

O+ vy IFvIEY v IDEICMZAN., TIDRETEDOHNLKT,
® nsert the pawl between the cap tip and the shank and remove it using the
principle of leverage.




.

P

)

. ; ; D 563.5 564.5
SFe~tiE  External dimension W 4715 400
(mm)
H 867 1017
g 8 Weight (kg) 52.5 59
B R Power source DC24V
ERRE EfEZER (0.4 ~ 0.7MPa)
Use Fluid Compressed air (0.4 to 0.7 MPa)
M7zRE<A 1,000kgf (0.4Mpa [CBWNT)
Pawls opening force 1,000kgf (at 0.4Mpa)
9:IZ:J17_ - mo)ﬁu\ﬁﬁ&%. 4.0mm
d1-wvhk Minimum pawls opening gap
Changer unit . mojgqusﬁﬁg 9.6mm
Maximum pawls opening gap
TJO—T 18 BERE, (N /&£H 2mm)
Floating mechanism Standard feature (2mm vertical/horizontal)
Ty REREVY— IRAEEEH
Set failure sensor Standard feature
F v THEME R FFE161@E
Number of tips stored 16 each upper and lower
THYYI R SO REES (I NE8 2mm. 5 8mm)
Magazine unit Floating mechanism Standard feature
& € (@mm vertical/horizontal, 8mm front/rear)
FyIntro— IRAEEE,
No tip sensor Standard feature
FyITEEER T Y— RAEEE,
Number of tips stored Standard feature
x A Stand 1Z#EHEE  Standard feature
F v T EOUKIE IRAEEH
Tip collection box Standard feature

&5t /SHFER M Parts/Consumables)

16 EFYvIDIYAHI Y
16 round tip magazine @13/ @16 ®13/016

m (I, ExE)
Paw! (movable/fixed) 13016
T Assy ({81 T 013015

Pawl assy (upper side/lower side)

REF - iR - BEDORICE. NMERCEEDFFENTV DV UPILESZBS RSB0,
For maintenance, inspection, and repair, please inform us of the serial number attached to the main unit.




SHINKOKIKI ()

. “ = . 0 n 21 % E
ﬂFv wIFyIHBTE Cap tip change tool 73772 7XR%E /I8 )

DY FFvTFvIHL
One-touch cap tip removal E

45 Features

FENOEBZEHRA. v v IF v ITRBEDERENAETWNZHID
HUDES.

Open/close mechanism with large contact surface with the bottom of the

cap tip for easy removal.

{£4% Specification)

BAFvYIFVITAX . .
Applicable cap tip size @13 % e
PASIAAIp 2f& Overall length 260 260
External dimension —
(mm) %M@ Over-all width 50 50
g 2 Weight (8) 455 440

% ZF4EE % manufactured after receiving an order

bLom
Eagle claw @

$§E Features

T IDREBZAVF vy TF v TORDAUNES.
FryvIFvI, IvUIICEMITICVEES

Easy cap tip removal using principle of leverage
Designed to prevent scratching cap tip and shank

{1#% specification)

BARAFrYIFvITAX
Applicable cap tip size @13 % @16 %
NENTE
External dimension £& Overall length 285 285
(mm)
g 2 Weight (8) 800 800

% 4 E % manufactured after receiving an order



.
(F vy IFyTZRIR Cap t chanse tool &7 g nmeon 1 (5

FryvIFvIHL FryvTIFvITHUW
Cap tip removal, Cap tip removal W
S|
SR Featires)

FrvIFvT, Y VIICERHTEICL,

Designed to prevent scratching cap tip and shank

(f#8 Specification)

BAFrYIFVvITAX 13, 916 (FEA) x
Applicable cap tip size @9 | 013 ®16 @19 @13, @16 (dual use)
HNEE £ & Qver-all length| 285 | 285 | 285 | 285 370
External dimension
(mm) 2@ Over-all width | 32 32 32 32 32
g & Weight (g) 462 | 448 | 436 | 484 568

¥ B4 E % Manufactured after receiving an order

tOfDS1IF T

BAFTvYIFvITAX
Applicable cap tip size @9 ®13 ®18 @19
£ =2 Weight (g) 144 132 118 168

% B4 E % Manufactured after receiving an order

= [0]=] P

Bird's eye
RE Feat:u:nres

Ve oEFvYTFYITORENESTD CmiEE) kREPITUVLD
T—I\—TERZHRAB. BETHRLPTL,
Tapered shape for easy removal even when the gap between the shank

and cap tip is narrow (approx. 2 mm).
Light weight and easy to handle.

F—) (—Fk iz Specifi:catiaon
Taper shape

BRAFvYIFVITAX
Applicable cap tip size ®13 016
NENTE ££& Over-all length 300 300
External dimension
(mm) 218 Over-all width 32 32
E 8 Weight (g8) 400 400




SHINKOKIKI ()

EE'EIEIJ:%E Productivity enhancer

BERTOYVIOIYVaVFY N NIVNEEZRER - BIIULIEIETS
T4 —5—RBZRDICEEMSD LD DREES (VT T,

Sorting, aligning and feeding welding projection nuts/ bolts, etc.
Mainly feeder equipment, product lineup for productivity improvement

e BHDFYRIr—F—-DHE

1. BRILAKDA. FEEEkT v bOHEHFHAEE,

2. Oy rOUEEDLEHLE Z.

3. —(@BEDOY REZHB, TDA. YUVI—XXO—IZENE S,
® Features of our nut feeders

1. The skewering method enables the supply of nonferrous nuts.

2. Easy alignment of supply rod.

3. Integrated structure rod is used. Therefore, it is easy to change

the cylinder stroke.

HmAFEERAF Y &
List of Main Applicable Nuts by Product

g ® 0 ® 0 0 0
7F>Ih%‘ey n%(X O © ° s - 8
Star - © - - - -
éﬁ;,lt\ A O X X X X
e o o | o | x | o | x

O @AT A HBREXY X @AART  O:Applicable A :Special order X :Not applicable



@—

$— s SEMODLERE
[ I‘?j J Dragon Prodftivity enh?r?cla E

R Featires)

ARTIRT =T (7= UVEF—=) [CKD Ty 1 TFRElE 2 7 FDUDHUIF—ICTAY
RETEIGT Do

The mechanical escape (air cylinder) feeds one or two nuts at a time to the head by air.

{4 specification)

HNENE D 450
External
dimension i 550
(mm) H 1200
Hopper volume el 7 aL
R AC100V (50 / 60H2)
Power source
I7—FE
Air pressure e
P M4 ~ M12
Nut size
T hMEIR e, W, f, A, TE, 20t
Nut shape Square, With flange, Round, Hexagon, T-type, other
HAGEEN w9 70 8.5, F7Fw b 30 @
Supply capacity | About 70 square nuts/minute, about 30 round nuts/minute
HEIR Y 2R SHEERZHRA
Control box Special circuit board is used
AR IR—A 3m (F#)
Supply hose 3m (standard)

*FYRDRESICEDBENEDDET,
*Capacity varies depending on the size of the nut.

XERIE. VIEABTY MERTY,
% The image shows hexagon nut with flange specification.

KBEHEDHRBOOEXDERICIE. RMEOI U7 ILESZESH]
S5ELEEL,

2041/ HFEcafth Parts/ConsumabIe!s’ When ordering consumables for equipment, please provide the

serial number of the main unit.

BHEEST) \— FYRIT =T ==L, Ry/\—RDI=, EFEF v SDRAZ L,
Dust cover Prevents dust and different types nuts from mixing into the nut feeder bow! and hopper.
BREEH/\—EUfTEE BhEEH ) \—FETEE,
Dust cover mounting bracket Mounting bracket for Dust cover

kS 4 70w R KM OY RICKD. 7y bOAGERGENTEETT . FE)
Special type rod Special shape rod enables directional regulation of the nut. (Special order)

JURfFEIRE Spring-loaded hinges
~NJ%w M Magnetic board
Ow R Rod
Ow Rt >4 — Cylinder with rod
T L% >AEMR—X Urethane Square Hose
Ow RJUy#+> Rod packing

[R>3V] BERES!
[ Dragon J video
available now!

P.47




SHINKOKIKI
—_ , HE RS
/7 I=vIR Phoenix podecnity e Ll

BHE Featu!:r:e:s’
=Y T —F—DHEOLD. TF7—ICL>TF Y hEFEET Do
WIKDIEWF v REITHEESEWNT v M@

Nuts are fed by air from the outlet of the parts feeder.
Applicable to nuts without flange that do not overlap each other.

£4% specification)

NETE D 400
I.Extern.al W 350
dimension
(mm) H 1120
I —BE sL
Hopper volume
Power source AC100V (50 60Hz)
I7—E —
Air pressure 0.4~ 0.5MPa
FYbGAX M4 ~ M10
Nut size
PAANI VN POm, 7\Ax, ¥
Nut shape Square, Hexagon ¥, Round
G RESD mETw MY 60 .9, R v 30 @
Supply capacity | About 60 square nuts/minute, about 30 round nuts/minute
HER Y 7R SHEWRZRA
Control box Special circuit board is used
EAGIR—R 2m (F%#)
Supply hose Feed hose 2m (standard)

¥NA, RICODEFXRULTCF. Ty hDEZICKDHIKINGDDET,
SHMflE. AR IEEL,

¥ Hexagon and round nuts are subject to restrictions depending on the
weight of the nut.
Please contact us for details.

3 o RBEHEDHEERDCENDRICE. KAEDY U7 IVESZBHSELIEE0,
%M/’ﬁﬁ“ﬁg Parts/Consumables When ordering consumables for equipment, please provide the serial number of the main unit.

BREES)\— FwhI4—F—R—ILA, Tv/\—HN~NDI=, BiEFF v rDEAZRLE,
Dust cover Prevents dust and different types nuts from mixing into the nut feeder bowl and hopper.
BHEEH/\—EUfTEE BhEE ) \—FHETEE,
Dust cover mounting bracket Mounting bracket for dust cover

JARATEIRE Spring-loaded hinges
X% w MR Magnetic board
Ow R Rod
Ow Rt >4 — Cylinder with rod
T L% >ER—X Urethane Square Hose
Ow RJCy=+> Rod packing

P47




1 Featires)

EEMEL RS E

Productivity enhancer

=Y T =45 —DEOPNERAICHN O TWNTC, 7Y bOBDNSIF—ICKD, Fv hEEDET., WADHNTS v

(S@Eho

The outlet of the parts feeder is bent at a right angle and the nut is fed from behind the nut by air.

Applicable to square outer claw nuts.

[R5—] BEEET!

[ Star ] video
available now!

% secifcaion

SN D 400 400
External
dimension i 350 350
(mm) H 860 1120
I —BE8
Hopper volume L
Power source AC100V (50 60Hz)
I7—E
Air pressure 0.4 ~0.5MPa
FybhAX M4 ~ M8 (BE :M10)
Nut size M4 - M8 (Special order: M10)
Jw bR T B0, A (R
Nut shape Square (outer claws), Square (inner claws) %
HAGRES] # 60 &, 7
Supply capacity Supply capacity about 60 pcs/min
HEIR Y O R SREWZHRA
Control box Adoption of a dedicated circuit board
EFEIR—R om (%)
Supply hose Feed hose 2m (standard)

MUAE (W) [EDEFRLTUFE. Ty hOERKICKDHHNGDDFRT,
SHMllE. AR TIEEL,

¥ Square (inner claws), there are restrictions depending on the shape
of the nut.
Please contact us for details.

2041 /SHFE@ it Parts/Consumables)

KEHDBRERDCANDEICIE. MDY UPIESZESHSBLEE,
When ordering consumables for equipment, please provide the serial number
of the main unit.

v hIJ4—F—IR—IUA, Rw/—RD
BHEE)\— =, BBFvhOEANEMLE,
Dust cover Prevents dust and nuts of different types from
mixing into the nut feeder bowl and hopper.
BHEE D/ \—EUIEE BrEEH/ \—REtEE,
Dust cover mounting bracket Dust cover mounting bracket

JURATEIRE Spring-loaded hinges
X% w MM Magnetic board
Ow R Rod
Ovw Rft>U >4 — Cylinder with rod
T L% >VAER—X Urethane Square Hose
Ow RJ)Cw=+> Rod packing

P.47




SHINKOKIKI )

SEMm ERE
/Z? ~ Smart Productivity enhancer
R Featu! :r:e:s,
DIRERBEDIRBIADIEAICKD ., BIES Z KR
IN—=Y T4 —5F—DHEOKXDBEI 7 —ICTF v hEEIET do
OV IND NIRRT,
Full-wave drive diaphragm reduces operating noise.
Nuts are fed directly from the outlet of the parts feeder by air.
Compact body design.
f## Soecification)
NENTE D 400
External
dimension b 850
(mm) H 950
MY —BE aL
Hopper volume
Power source AC100V (50 60Hz)
LT 0.4 ~ 0.5MPa
Air pressure
FTwhgAX M4 ~ M8 (FFiE :M10)
Nut size Nut size M4 - M8 (Special order: M10)
T K PO (FHT0, A (RT)
Nut shape Square (outer claws) Square (inside claws) %
HiGRES] # 60 &, 5
Supply capacity Supply capacity about 60 pcs/min.
R Y & & SHEERZERA
Control box Adoption of a dedicated circuit board
AR TIR—R 2m (1F%)
Supply hose Feed hose 2m (standard)

BB 13 \—ER A5l

Example of dust
cover installation

¥IUE (WMD) [CDEXRULCE. T bDOBIRICKDHIKINGHDOE T,

S, CHER<TIES W,

¥ Sqguare (inner claws), there are restrictions depending on the shape of

the nut.

Please contact us for details.

2041/ H#E@ Mt Parts/Consumables)

REFEDHBEERDCENDEICIEF. ROV U7 IVESZBHSELIEE0,
\When ordering consumables for equipment, please provide the serial number of

the main unit.

BHEES) \—
Dust cover

FwhIJ4—F—R—JLA., Ry/\—RmANDI=,
EZiEF v bDRAZRALE,
Prevents dust and different types nuts from mixing
into the nut feeder bowl and hopper.

FhEA\—EfE=E

Dust cover mounting bracket

BHEEN /) \—HETEE,
Mounting bracket for Dust cover

JNRfTEHE Spring-loaded hinges

Y% v bR Magnetic board

Ow Rt Rod

Ow 2 U4 — Cylinder with rod

P47

D% VER—X Urethane Square Hose

Ow RJCw=+> Rod packing




EEMEL RS E

Productivity enhancer

Bamby

[INvEe—

=Y T4 —F—ZFEICEL C&ICKD. /\=YDOHONSHENY RETIREIDH T
> v hEERET D, (BRET)

A, A, A7y MEEYVIIDEWN (v MEIEAERSEL) v MMI#ED.

By placing the parts feeder in a high position, only vibration from the part exit to the feeding head

feeds nuts. (Natural fall type)
Applicable to square, hexagonal, and round nuts without flange (nuts do not overlap each other).

££#8 specification)

NEE | D 450
External
dimension i 450
(mm) H 1735
ISAG2 *
Hopper volume el 7l
Power source AC100V (50 60Hz)
L7 0.4 ~ 0.5MPa
Air pressure
FYhIAX M4 ~M12
Nut size
P2 SIZN mAE, A A
Nut shape Square, hexagonal, round
BraaEEH mEsw MY B0 &2, ATy 30 @ 5
su /\qucz: acit Supply capacity about 60 square nuts/minute,
pply capacity about 30 round nuts/minute
HER Y 2 R SHERZHRA
Control box Adoption of a dedicated circuit board
EARR—R 1.1m (F%)
Supply hose Feed hose 1.1 m (standard)

FFYRDRESICEDBENRZEDDET,
*Capacity varies depending on the size of the nut.

241/ HFE@th Parts/Consumables)

FBEHEDBREMODCENDRICE. KOV U7 IVESZSHSELIEE0,
When ordering consumables for equipment, please provide the serial number

of the main unit.

BHEE)\—
Dust cover

FwhJ4—F—R—=ILA. v/ \—H{ADI=,
EiEF v bDRAZRALE,
Prevents dust and different types nuts from
mixing into the nut feeder bowl and hopper.

BREEH/\—EUfTEE
Dust cover mounting bracket

BrEEH /) \—FRETEE,
Mounting bracket for Dust cover

JNRfTEEE Spring-loaded hinges

X% v b Magnetic board

Ow R# Rod

Ow Rft2 U4 — Cylinder with rod

P.47

DL AER—X Urethane Square Hose

Ow RJCyF+> Rod packing




SHINKOKIKI ()

7y EEHERE A TO—A\Y K Dy RYUYY—  crintes 4
Automatic nut feeder Yellow head / Red cylinder Productivity enhancer

45 Features

7w hZENZBALE.
—BEDNY REANY FROAIRH Y RUJVINIO
7 B - ML .

WEE (F7v3Y) JUIH—FR TRy MIEDR. 47— hAA v FDfE
/ Mounting bracket (Option) FAN'AgE.
/ Prevents nut spillage.

The integrated head structure and holes in the head
are gun-drilled for improved straightness and wear
resistance.

The cylinder is magnetized, allowing the use of an auto
switch.

BffEE A~DHATD 4 7E8E (BEFAYAT)
Mounting bracket | Four types, A ~ D types(Photo: A type)
F—hAAVF Oy ROMBIREICKD. ZEUERN AR,
Auto switch Rod position detection ensures stable feeding.
BAEEIF. BTREICKDEROVCEITEFRTD,
FEULIE. cEslrEEL,
Mounting bracket can be selected according to
installation conditions.
For more information, please contact us.

A TO—~\v RORNER Inside of yellow head

Pr—— R—ZATHZDTIZw MRIC. TOYT I 3 V(CEhEIMNMN
New product, TITEBULE U,
EERE TNICED. Ty hOFEEANREL, Fv MUHERET v 7L
F U,

The magnetic board, which is the base, is unevenly processed to
match the projection.

This stabilizes the standby posture of the nut and increases the nut
supply rate.

HERmR - FA8H

Conventional
product, slanted

WIS v MRESEANY R Ly R 45— Yellow head / Red cylinder

VUSRS ROAER

Inside of supply head for flanged nut

NABEYVNRICEDLEHFHEEOMMEMN L ZS v hRI(FHRICH
UCEICRD. v bOFEZRBZLTESTR U,
A semi-circular concave arc surface is machined on the nut receiving

plate to match the hexagonal part and the flange diameter to
stabilize the nut's standby posture.



@—

310y A — £ R
[ T—bovvy Auto shutter bty e L)

R Features)

H—T47> (P.26) EDEECKD. KIMNTRDENZBLE,

Interlocking with Guardian (P. 26) prevents contamination of
unprocessed products.

!
’\‘ 1= (14 Standard spe:c:ifi!c:a:ti:o:n’
\
’\ D 410
[adasidd ST —_— w 408
#7>32) External dimensions £E Total length 1130
Payout switch H
(Option) BB Aperture 750
IR AN~ D 850
Storage space (mm) W 345
R dimensions H 570
FE[MESN P D 240
(BAIDEEHDFEVEEF mm) W 345
Aperture dimensions MOmAE 65°
( If units are not stated. mm) Opening angle 65 degree

EEARRIF. TP331-TP332 DAV FF My I AITHIGLTHEDET,
F—5—G
CHIEBOOV TRy IRADYA X CEDEDILE. CEBLEICHNUTERET
BEVCLETD,
Standard specifications are compatible with TP331 and TP332
container boxes
Made-to-order goods
We can design and manufacture to match your needs, such as
matching the size of your container box.



SHINKOKIKI ()

n 1Y Vo] :I:I:%
(FHLTRIVNT1—5—  Ftypeboltfeeder  poim imos | o

R Featues)

ARy NAERE BB U V5 —[C RSB EEME S BIRFICMIL MEA

BIDFvvIEHA FEVICKDIERETIEA,

HA REVHTFEEBNHREHTWVDEE (HA REVARBICERUTWVWSIKEE) T. ML bDABEROHES
HA REVDOTIRDRICSKD . ML bOBEEZRA].

Bolt insertion simultaneously with welding operation by spot welding upper cylinder.

Precise insertion with split chuck and guide pin.

Structure with guide pin protruding from lower electrode (guide pin is always raised) for easy baolt positioning
Detects the presence or absence of a bolt by the guide pin's down angle.

ML MtEAY B (O hA)
Bolt supply head (for robots)

{148 specification)

NESE | D 580 580
External
dimension i e e
(mm) H 1200 1200
I —BE
Hopper volume el el
Bk 100V 100V
Power source
I7—FE
Alr pressure 0.4 ~ 0.5MPa 0.4 ~ 0.5MPa
ML PYAZ M4~ M10 M4 ~M10
Bolt size
L MR VI, (FF7O0Yzovay) | Wk (FJOYT o 3Y)
Bolt Shape | Flange round (Projection below) | Flange round (Projection below)
fHA8EEN 15 @& 72 ¥WI15ME 9
Supply capacity About 15 pcs/min Aabout 15 pcs/min
HIER Y & _ .
Control box
EAEIR—R 3m (&%) _
Supply hose 3m (standard)

X MILEDYVINBREETORSICLDFHINNDDET,
¥ Restrictions apply depending on the flange diameter of the bolt and

241/ H et Parts/Consumables)

BREEAJ\—  Dust cover

NN SF S faray W

the length under the neck. Please consult us for details.

FERDBEFERDCEXDREICIE. XDV UFIVESZESHSBLEE0,
\When ordering consumables for equipment, please provide the serial number of the main unit.

T hIJ4—F—IR—LA, Rv/\—RNDI=, EFEMN/LSDEAZRLE,
Prevents dust and nuts of different types from mixing into the nut feeder bowl and hopper.

BREEH/\—EUfTEE
Dust cover mounting bracket

PEDN—HERNEE,

Mounting bracket for Dust cover

D% H#K—A Urethane round hose

P47




%

H4 REVEREIETEZ FLU—RILE— U2 B

Straight holder with guide pin lift control Pin-no-suke

Chi2Bh 2

Pin-no-suke 2

FS-GP2

o 1E B m

® Components

FENFAHIE Box
(K trI—11F)
Manual Control Box

(with magnetic sensor)

T4 Specifica:tinon

R Featues)

FENER RS

Productivity enhancer

F

HA REZ DR EFEZHIEH,
D—U8EE. EVZEETSE. 74 FEVOBRIEZRLE,

Chi2Bh 3

Pin-no-suke3

UhBh 2 A4 FEVOERDEZRD. 7"ELYF (2mm) THEE.
ChB 3 BRIEICELD, A4 REVOWMDEIND VT YT,

Controls the lifting and lowering of guide pins.
When replacing a workpiece, the pin is lowered to prevent damage to

the guide pin.

Pin-no-suke 2: Guide pin can be replaced with a 2 mm hex wrench.
Pin-no-suke 3: Guide pin replacement is a one-touch operation with a

dedicated tool.

{T4% Specifica:ti:on

KA X Body size

2K :465mm Y UVI—&F: 925 930
Overall length: 465 mm Cylinder diameter: 25 mm dia.

B8R Power source

AC100V (50 / 60Hz)

TEREMR
Lower electrode

725B0 / 730B0O
825B0  830B0 (J\A hxfFE) (with viton %)
BADwIvEM UFO
Stepped washer electrode UFO

2 )\wHTO—
Spatter blow

I7—0O#E0O (96 DYy FEMRTF) D
E& (ON-OFF flfllF=Ha=EA)
Air supply port ( ¢ 6 one-touch pipe fitting) only
Mounting (ON-OFF control is not included

T 7—[E Airpressure

0.3 ~0.5MPa

M¥EVEBMEDOBEZ/\A > (TvRIL) THREL., BRIINEEEHEZS
HFET, A hIF KET 2R HDEFEECI,)

% The space between the pin and the electrode is protected by viton (fluoru
rubber) for shock absorption and sealing.

FS-GP3

O I—=0&FyRERY S
@ Set workpiece and nut I

(Viton is a registered trademark of E.I. du Pont de Nemours and Company.)

0 @EE
§1H’E Operatlon' @ The passage
of electric current

FEARY METTHERDIE
A, flfBox DTz U —
ETANR—HEEIC KD A RE

@ A4 REVDBET

® Guide pin descending
@ D—o%H

@ Workpiece discharged

A2 s _ LR vEEBSHEFET. Wity
il i ii Vi Y—HBBERATHEHA R
‘Fi —> ;ti“ - ﬁ#‘ — I E\/%B%-Faﬂ'\ ?47-[;59
BN 5 = B EENBENEET 5L L5

. S S S L&)
AN » ORY NS4V TTEADS

® HAREVHEND ® The guide pin goes up.

Ald. SHEREEL,

When used with manual spotting machines, the guide pin is raised and lowered
by the magnetic sensor in the control box and the timer function. (The magnetic
sensor lowers the guide pin when it detects that power is applied, and raises it
when the time set in the timer elapses.)

m For use in robot lines, please consult with us.

2p4/ RSt Parts/ConsumabIe!s’

=g FA 3 (0.1 B o~ _ (BEEAR Funct
Ry Up to 3 seconds ( 0.1 second KmYwowh Water-cooled jacket | E#[EAMisA] Cooling around electrodes
Ascending timer increments)
BERAS —_ .
. . Wt t— - ORbA FS-GP2 P48
Energ|zeghs§nsmg Magnetic sensor (O SEYAZFREY) i :
metho Robosai FS-GP3 A p.48
(Saiminus pin for robot) :
HA U IS )UEE P48
i Our ariginal electrode )
Electrode B0 v v & UFO
Stepped washer electrode UFO P.49. P50




SHINKOKIKI ()

NEBIEEE V)V FARYRILIZvH e P @

N type switchable electrode Multi-spot unit

Standard type

Standard size

MEFEER CHEDERICOETHIUCEFEITGE.
¥ Manufactured after receiving order: Negotiation is
required for desired specifications.

2E90E. 180 EOnERY 1T
AU —bMR)LY—EE T8
2 types 90° and 180° rotating electrode type
Straight holder can be mounted

2> UIN—BE<
Crank lever open

250U\ UD
Crank lever close

Productivity enhancer

45 Features

1. EERERETNEBEEOIIRUENEDSTEESED
CEICKDERDBEANHET I,

LA BBEOBEONIOMITEHE - AE—T 1 — (3R,

CRIVB 1 A= RS EVERU LT DIET TRIRAIRE,

B OREBEOMER TS, ERIAMYEED

KB KEABDIZHHR—ADEDER B ARE,

 AREOBEOBEHFEEN 1A,

. The striking points of the upper and lower electrodes
remain the same and can be rotated to change setups.

2. Built-in water cooling diverter eliminates the need for
hose replacement

3. Replace by simply loosening one bolt and pushing up
the pin.

4. Qur standard electrodes can be used, reducing
operating costs.

5. Built-in water cooling diverter eliminates the need to
replace hoses.

6. One unit with four different electrode combinations.

{L4% Specification))

— OO0 MW

PASIZAI P =K (B17) 265 (BETAX)
External dimension | Over-all length 265 (Standard size)
(mm) £ Diameter ®»115
EXfT#2 Number of attachments 4
ERAME Max. pressure 1000kg
A% Cooling method JK4%  Water cooling
4§E Features
1. UK=ICKDIZV T, PoSY TICTEHEERS
T EDTIRE

2. KABDKEBDRBENTVDIEHR—AFTEZIARNE

3. AR —bMR)LY—EEFTgEDs PC F v b/ RIL
TAY—EDHEEEDOEE OKFOEREMRER)

1. Manual rotation is possible by clamping and
unclamping with a lever.

2. Built-in water cooling diverter eliminates the need for
hose replacement

3. Straight holder can be mounted, so it can be combined
with PC nut/bolt tester (except for harizontally
rotating electrode)

{14 Specification)

2 18 [OEn BB BB~ A A
BS ih—EXD{F(F88 ¢ 60mm
BS m—VEiESE 130mm
DKBERS 75mm
5V 0UI\—8 »80mm EdH 3Bmm
CIEREmERA 8Omm X 90mm EdH 50mm
¥ ZEEER . CHREDARKICOETIRUCIFEITEE,
Example dimensions of each part of type 2 rotating electrode
BS Horn mounting area ¢ 60mm
BS Horn length  130mm
Water divider length  75mm
Crank lever section @ 80mm, thickness 35mm
Rotating electrode angle 80mm X 90mm Thickness 50mm

¥ Manufactured after receiving order: Please contact us to
discuss your desired specifications.



NEIEEE Y)VFARYPILIZvS e P @

N type switchable electrode Multi-spot unit AU CHlEET
D5y FARIREBIRT AT 5 Features

A=KV —EH TR
One-touch replacement electrode type
Straight holder can be mounted

RIE 7S W FAY MDZBICKDERIDEZ X T,
CBIE7ZYYFAY NI 3TCT—T0BEHAME XINBERHDE T,
BBEHFHRECHE Y Y FXAY MR UE T,
CBIEV Y Y FXY hEREF Y b7y TICKOBEAIKED DIEDDR—A
DERDBADUEFHOEE .

1. Change the setup by replacing the front attachment.

2. There are 8 M6 screw holes on the front attachment job for mounting the
workpiece fixture.

3. Replace the front attachment with the jig mounted.
4. The front attachment and the main unit are set up so that the cooling
channels are connected and there is no need to change hoses.

148 Snecification)
oS oEY

2)0F— 24 {EMAE BIE 75 FXA NEH
Crankpin #it 95mm X # 90mm X B47E 80mm
Spanner 24 use AEEDEEEBGD50mMm
N7 NN DS
BIE 7w F A B D5y FEBIRAEES it 85mm X # 90mm X BE{7E 80mm
Front attachment part One-touch electrode body part BS 7k—¢ 60mm X 180mm

95y F ZRL—RRILY— 25
|E DA+ EES RIARICANU—MRILY—ZEHFILTTHA (R
One-touch ~No—bRILY—RIRRED)

Inset EEEER CHEBOMIEREEITEE.,

Attachment dimensions example
Height 8bmm X Width 90mm X Depth 80mm
Joint with main body @ 50mm
Dimension of main unit
Height 8bmm X Width 90mm X Depth 80mm
BS Horn ¢ 60mm X 180mm
Straight holder ¢ 25
Note: Straight holders are assembled and delivered
upon receipt of order (straight holders are
guoted separately)
Manufactured after receiving order:
Please contact us to discuss your desired
specifications.

AWM —

KPOEEES 1 T S E Featie
Horizontal rotating electrode type
1. EBREEMETNEEMDITRUBNZED ST, KEMMEIEDIEICKIDERD
BADEDET,
2. RXIFH TIEIEFT—) —IRDIAHFHILIFEIBE T T,
3. KA KEEREDCHR—RADEREDEZ (FARETT,

1. The hitting point positions of the upper and lower electrodes remain the same,
and the setup changeover is completed by rotating the electrodes horizontally.
Thread adapter or taper digging is available.

Built-in water-cooling and water-diverting device eliminates the need for hose
setup.

{145 specification)

EvF, SCHEERICEENTIETT,
RALER  CHEOTREIEITEGE,
Pitch, height, etc. can be changed as desired.

Manufactured after receiving order:
Please contact us to discuss your desired specifications.

w

@



SHINKOKIKI ()

I=gEAYYy— H—F47 >/

Welding shots number management counter Guardian

438 Features)

1. XD 3BODSEHRAIAEZEBIRTCEEF I,
WSt Y—+HVNE

(@) 0

KEES +AVME

() Wtz Y—&Tcld. LS D

1. You can choose from the following three measurement
methods
(1) Magnetic sensor + gun pressure
(2) OK signal + gun pressurization
(3) Magnetic sensor or LS only
2. In addition to the number of product welding shots,

D BIEITA AEX B BITSICmE. Fuv production, boxes, and total welding shots,the number of
- w o w2 — . tip replacements, destructive inspections, defects, and
7; TRY, BIRREH FARY AREORTD defect rate can be displayed.
A8,
I HAD T — FINHhOE5— NITILAD 25—
Single counter Double counter Triple counter
3. FHAR/RIVICKDEZB D Lo 3. Improved visibility through the use of a letter-illuminated
L e e . panel.
__ (ZZE7R xr g 2K 2 157 .
4. 79— (B2XE 50ORAIEHERA) 4. Buzzer (volume change, multiple sound types already
5. 24TV T NERE . fHegE’terrid) g
5 R . — . High-performance compact design
6. 7w hRBRERESES N AIEE 6. Interlocking with nut missing part detection device is possible

7. A=

9. BR
10. &

1.

3

SIS

b vy S—EEBEEDAIRE

ACB85 ~ 264V Mt ! !
ERICBVWCHERERB, HDVY—EZECIR

3VICC, ®EE, HEBFRLDAR.

ElE. JILEBDBEZRRUCHDFET,

7. Can operate in conjunction with the auto shutter

8. Monitoring of sensor abnormality

9. Power supply 85 to 264V AC! !
10. Memorizes setpoints and counter values even in the
event of power failure
11. English and Chinese display are available as an option.
Above performance is shown when fully equipped.



EEMEO LS E

Productivity enhancer

(4 Specicaion)

PASIAAI D 180
_Exten_wal W 510
dimensions
(mm) H 95
g 8 Weight (kg) 2.1
=R ‘ \ AC85 ~ 264V 50 / 60Hz
Power Source FAE1—X3A (H/4X6.4 X 30mm) Fuse used 3A (Size 6.4 X 30mm)
|/ O ABRLES : DC24V £+ 10% 0.3A  Power supply output for I/0: 24VDC £+ 10% 0.3A
140 X 32 Rv hDENFRRE, 140 X 32 dot fluorescent display tube.
RNED EF 2 1R FANTF 2 1T~ 4 1RO T8,
Display part Two lines of Kanji characters can be displayed, and two to
four lines of half-width characters can be displayed.
Gikizl)== =R mFE 1:DC24V  Terminal block 1: DC24V
Power source for control iHFE5 2: AC85 ~ 264V Terminal block 2: 85 to 264V AC
2D » BEREI—RK (RS 2m) Power cord (Length 2m)
Others 10P iimF& WX4B -10C1- H1

10P terminal block WX4B -10C1-H1
Eff£E2 Mounting bracket

%) AP —)(SXA—5—7 . YRATLI\SGA—F5— 18 BFEDKEZEN 8L,
% Full : 7 user parameters and 18 system parameters can be changed.

IIREEBhY 5 —

SEMOLEE E
Welding shots number management counter

Productivity enhancer
R Featues)
MAEE. HhOVI—HKiEN S 5(TEMTIEE.

Easy to install, counter function can be easily added.

{14 specification)

SR D 140
E |
il 1/ &2
i (mm) H 100
E2 Weight (kg) 700
=& ACT00V ~ 120V
Power source
BRI 6 #7 (0 ~999999)
Effective display digits 6 digits (O to 999999)
ANEE R —RAAvF (1.56mI—R)
Input device Magnetic reed switch (1.5m cord)
FT—hUtvhk DOV E7vT%. 1 BRICEKRZOICLET,
Auto reset The display is set to O about 1 second after counting up.
JH— HOVKNPYTH H1BETT—ZBS5LET,
Buzzer sounds for about 1 second after counting up.
EERFFEAE BENMINTD. hoVy—EZFRFULET.
Power hold function retains | The counter value even if the power supply is turned off.

$OBHA@ITIIGCDOERLTCIFE. SHBRLEE0,
% Please contact us for overseas correspondence.



SHINKOKIKI ()

SIS I —EEE /\Uo— LR LEE
Air blowing device with timer function Hurricane Productivity enhancer

R Featunres

IP—ONT. AU—TANOIZOENER L. (AEBHIVI T
EEBEHH I

BEPOF URIE L.

HYMED ON / OFF BSICED. EROBMTP— =Mt
I7—YxTvbFMC-AJO2 DOVINORTAT,

Air power prevents dust from entering the sleeve hole. (Air volume can
be adjusted with the air volume control cock.)

Blowing off spatter during energization.

Air is blown out for an arbitrary period of time according to the ON/OFF
signal of gun pressure.

Compact type of Air Jet FMC-AJO2.

{4 Specificati!o!n’
~EF Mol  FSAD

NETE D 150

I_Extern_al W 80
dimension

(mm) H 150

_ E= Weight (kg) 1.4
=R AC100V ~ 120V
Power source
BERDHVMEDA VT« U—ZRELE T,
LB A~<— 0.00 ~ 0.50 # (0.05 #Z|d*)
Upper timer Sets the on-delay for gun pressurization of the welder.
0.00 to 0.50 sec (in 0.05 sec increments)

BEROAVINEDS 77 « U—ZRELER T,

TERY A~ — 0.00~ 1.00# (0.05 #¥Zld)
Lower timer Sets the off-delay for gun pressurization of the welder.
0.00 to 1.00 sec (in 0.05 sec increments)
T7—/)VLJ BSHEED Dy T B {TE
Air valve With air volume control cock
- W n o

IT7—I1Tw b AVEts SN ERE E
Air jet Gun pressure specification Productivity enhancer

R Featues)

HVIIED ON / OFF E85LDERDREI 7 —ZEH,
BEHRDOFURF U

TAMRSY 2 TCIT77—2JO—0DEERN T8,

Air is blown out for an arbitrary period of time according to the ON/
OFF signal of gun pressure.

Blowing off spatter during energization.
Air blow can be checked with the test button.

{14k Specificati:o!n’
- EFI Model  FMC-AJ02

SN D 210

=iz W 200
dimension

(mm) H 125




B0 B ——————

I7—IzTvb BRtry—it R L [
Air jet Magnetic sensor specifications Productivity enhancer

£ Featires)

stz —0 ONESICKD. EEDOHREIT /7 —=ZEH,
FTANRY YV TIT7—JO—DHESE N T EE.

Air is blown for an arbitrary amount of time according to the ON
signal of the magnetic sensor.
Air blow can be checked with the test button.

(4% secification)

ST D 210
External
dimension 200

(mm) H 125




SHINKOKIKI()
o] E:F“E Quality judgement equipment

BERER. E0OmEZRIITSH LECEELFREZHOTLET,
BEMEDE fﬂlgle}szlﬁiﬁh_dibﬁ'?ﬁa% BEhinbFTT, B TED
BRICBEREDEERZLYPIKUCUVWEEL L ICIRL T REZR
EULCTLEXT,

Welding quality plays an important role in assuring product quality.
Control of weld quality presents various challenges depending on
the welding environment. We offer a variety of equipment to make
it easier for our customers to control weld quality.




&iE gty N7y TARRIELIEEHENR A&

mEHERE

Setup failure detection item relative table by equipment / Detection example Quality judgement equipment

RENRETTEE Y b7y TRRIEHG

Examples of standard detection methods and setup defect detection

RHT5E
Detection method

HAREVOEEMBHNSDENDTADICIDARRBZRE !
Defects are detected by the rise and fall of the guide pin from the reference position! !
IE
Increasing the pressure
HAREY
BEME
Position of the
guide pin

AAREVD
BN BH LR
Guide pin position Guide pins are
descending raised

AAREVD
_LEpEm

Upper electrode

Fvh
=7

Nut ey h '3
Workpiece EE JhE
Normal FyhREE 7 hRL
Lower electrode Abnormal Abnormal

Nut facing backward No nut
D=0V, BAVERIET BIDIC, HHAUIFIVDBZUBALE A REY ZHEELE T,
To prevent workpiece misalignment and off-center, our original off-center prevention guide
pin is recommended.

RERRHEIEEEMR

Relative table of detection items by device

NEFvh (/Oyhgl) BEE

Hexagon nut (Piloted) Facing backward

ER
Normal

FuhEL
No nut

% il

Example of detection

Ty b4 ZEL
Wrong nut size

FyvhEBE
Nut facing backward

J—U&R
Workpiece overlap

RERF (VIL)
Protrusion irregular shape
(tsubure)

J—=01L
No nut

Fyh2 R8N
Nut 2-stage stacking

NAEFTvE /Oy hEL) BEaE
Hexagon nut (No pilot) Facing backward

M7 NEEE
Square nut facing backwards

T A RN
Different nut size

P 2N
No nut

%2

J—2150L
Without workpiece

J—U%R
Workpiece overlap

O|O|O|O|O|O
O|O|O|O|0O|O

O|O0O|O[O|O|O

Ty h2EKER
Nut 2-stage stacking

O|O0|O|O|O

MILNTOYV TS 3VEREN
Different bolt projection shape

L A ZEW
Different bolt size

ML ERETEL
Bolt length difference

IR
No bolts

D—2015L
No workpiece

(@)

O|O0|O|O

J—U8&R
Workpiece overlap

O|O0|0O|O

(@)

Dy vE[E (JOYIIY 3V
Washer facing backwards (With projection)

v vkl
No washer

=01 5L
No workpiece

D—U%8R
Workpiece overlap

vy 2 ER
Nut 2-stage stacking

Dy vJOVIIYIVESR
Abnormal washer projection

O|O0|O|O|O

Hho—E@E (FOVT I3
Collar facing backwards (With projection)

pabiay=NV
No color

J—I150L
No workpiece

-8R

Workpiece overlap

O|O|O

NS—2KRER
Colors 2 layers

O

COMDREIRRICDOWNTIF, SHEERRONICTHEMLIES L,

For other detection items, please contact our sales office.

¥ 1 WBHIETF v, BRAO/I\—DFERTHRETIgESIENDE T ¥ 1: Detection is possible with the use of an anti-reversal tip and electrode cover.

¥ 2 Mr.X002 UL — Box DfEFRTHREESIEDE T

% 2: Possible by using the relay box for Mr.X002



SHINKOKIKI ()

JOVIsvavFyh/ Ribey NPy IRBRLERE PC FA45—
Projection nut/bolt setup defect detection equipment PC tester

R Features)

HAREVDOTRRDRZREU NG RELELUSN) DHE. BIEICEEBRZDY b

NG BICFEBREOERZRRL. TS—RADRKEDIRE.

HAREVRBICEFTP—o 8 A ZRA. BEHEDODMENLEUICEFZRIR,

REaGHOEND VY Y F T,

If the guide pin dropout is detected and is NG (outside the setting range), the welding current is cut off instantly.
When NG is detected, the difference from the normal condition is displayed, and the cause of the error can be identified.
Air movement system is used for guide pin lifting and lowering. Stable operation with little deterioration over time.

One-touch origin alignment.

e

® 15 Rk ERm

® Components

190

180

{48 specitication)

A4 REVRERR  T7—T8

Guide pin lifting and lowering method: Air movable type

PASIAIDS & Dia. 025/ 32
External dimension D 51
(mm)
At W 80
% Approximate size H 370

N

v L 43Rk Set configuration

Fi= FHE5ARY A

Manual = For manual spot

/ BEi= 0ORyhSA2VA
Fff= JvbhAAvFo—J)UT / Sfi= BV T—RAv T

/ Automatic = For robot line

With F = with foot switch cable .~ With S = with sensor switch

JrvkO—5—
Controller

F8) PCC-14M (F 1)
- Manual PCC-16NMX30 (p25) (With F)
EE PCC-14A (S f1)
Automatic | PCC-TBNAX30 (925) (with S)
F8) PCC-14M (F 1)
Fob| oo | pap Mo PCC-16NMX30 (¢ 32) (with F)
For nut =6 PCC-14A (S 1)
Automatic | PCC-1BNAX30 (032) (With S)
025 PCC-16NAX30 (p25) 3t

Combination| PCC-14A (S 1)

For dual :
032 | use | PCCIBNAX3O (932) % (With 8)

Combination
ES) PCC-14M (F 1)
- Manual PCC-16BMX30 (¢25) (With F)
EE PCC-14A (S f)
20 Automatic PCC-16BAX30 (925) (With S)
ES) PCC-14M (F )
RILA oo Manual PCC-16BMX30 (¢ 32) (With F)
For bolt =) PCC-14A (S )
Automatic PCC-16BAX30 (9 32) (With S)
25 PCC-16BMX50 (¢p25

50 x ¢ FE) (025) PCC-14M (F 1)
y Manual With F
»32 PCC-16BMX50 (¢ 32) (Wi )

¥ 24 E % Manufactured after receiving an order



®—

8844 Comsorenis)

KmIvw s Water-cooled jacket

mEHERE @

Quality judgement equipment

BREIDSH Cooling around electrodes

J3aA > ~ikJLS— Joint holder

KT v NOEDHFTER Used for water-cooled jacket installation

MKAHREM E. BHEDEATEDED,

(48 specification)

HNETE D 155
Exterqal W 80
dimension
(mm) H 210
Power source AC100V (£10%) ~ 200V (£10%) (50 / 60Hz)

&34t /HFES M Parts/Consumables)

LFal—5—
Regulator

IT7—ERAE
Air pressure adjustment

JvhO—>—1R#EN/—
Controller protection cover

BECHETOHD (RTSvya,
2w E) NORFEZRELE I,

Protects the operating surface from scattering
(splash, spatter) generated by welding.

RT3 A—=E—
Potentiometer

A REVDESTHE
Guide pin position measurement

KCF A4 RE>

HAaAREY KCF guide pin Pol. Ro2
Robosai* (Ceramic pins for robots) ’
AU I )UERE
Tgﬁ%ﬁgz\l‘;h)ﬂ Our original electrode P53
UFO BB
|
B! (UL UFO electrode P54

TEREEARNIL b

For lower UFO 243 P55, P.56

electrode bolt

UFOQ electrode

*OMYA  BENE TR DH
MARST - RUR - BEOERICIE. AMERD TR BESZHHSELEE0,
% Robosai: Automatic/Dual-use machines only
¥ For maintenance, inspection, and repair, please inform us of the TR number on

the back of the main unit.

% Several cooling components are available.



SHINKOKIKI ()

JOY1IvavFybey b7y IRBIRHER Y NPCTRAY—TF  mEusss P
Projection nut setup defect detection equipment Nut PC Tester Petite Quality judgement equipment

R Features)

HAREVDTHORZEHEH L NG DIFE. BISICAZERZNY N

NG BICIFIEBREDERZRTL. Io—READFEDARE.

SEAXZBRILLATU VI ARIE. HERHICZ M,

FEREHLENT S Y FTHEBE

The guide pin dropout is detected, and if NG is detected, the welding current is instantly cut off.

When NG is detected, the difference from the normal condition is displayed, and the cause of the error can be identified.
The spring-loaded movable system, which simplifies the lifting and lowering system, is comparatively inexpensive.

One-touch origin alignment.
{14k Specific!a!ti!o!n’

HAREVEBERR  ATUVTaER
Guide pin lifting and lowering method: spring-loaded movable type

i £ Dia. ®25 / 932
WA D 46
External dimension
(mm) W 60
H 356
o
<)
£ L48hk; Set configuration
25 F&) Manual PCC-14NMX20 (¢ 25)
- 2 PCC-14M
0 ®» 32 F&) Manual PCC-14NMX20 (¢ 32) ce
2341 /;EFEdofth Parts/Consumables
To)
©
RT3z A—5— HAREVDAEBETE
Potentiometer Guide pin position measurement
- AARE> KCF A4 RE>
X K Guide pin KCF guide pin P51, P52
Main body - 2t U DS )LEERR
Fﬁ%ﬁ?:%g; tl:oﬁge Our original electrode =
o1&k Zfan e Components nut UFO 278 P54
UFO electrode '

MRS - AR - BEOEICIE. AFEED TRESZHSHSELLEEWN,
¥ For maintenance, inspection, and repair, please inform us of the TR number on the

back of the main unit.
841 Components)

KmIvrwh Water-cooled jacket

BiEEID5AE] Cooling around electrodes

34> kik)L4S— Joint holder

KAaIviry NOEDfFF(CEER Used for water-cooled jacket installation

SORHASBMIF. EHEDRE A THDEI., ¥ Several cooling components are available.
PAVIA DS D 155
JvhO—5— dmongon | W 80
Controller (%m) - = 210
B sour/c;a AC100V (£10%) ~ 200V (£10%) (560 . 60H2z)




°

JOY1ovaviyhey NPy IRRREEE Fy NS — 20020 sEnExs
Projection nut setup defect detection equipment Nut runner Quality judgement equipment

F 2U—X Fseries ]

$28
035

R Features)

J%/!\\I:l b‘@b"j /9 \Ja:—C—_I—HbO

—h ﬁ NBORF v HEATRERET YT,
One-touch origin alignment.
& B Welding strength is increased by using the attached sticky.
o . FBAX A TUVITTHAR
ol _59 ﬁ:ﬁ Sp@ Elevation method: Spring-loaded
BAF Y . _
aw | 5 Applicable nut M4 ~ M8 M10 ~M12
B LS —
Holder »25 X 225 »32 X 225
- fehd+BRLE AT YVFHE ATYFNE
U{,é U Anti-deflection Sticky included Sticky included
E\Lg HIETE D 35 35
95 External
B\ sor dimension L 35 35
Sticky (mm) 425 425

K2U—X k Series‘

%Ela?@

J?/n\:lbtrb\'j /9 \Ja:t—_l—ﬁbo

One-touch origin alignment.

& . HEAX  ATUIaEAR
ﬁ:ﬁ Sp@ Elevation method: Spring-loaded
: ERET Yk M4 ~ M8 M10 ~M12
Applicable nut
X mIL & —
e oot 025 x 225 #32 x 255
= fcodHhlE _ _
Anti-deflection
-« NETE D 30 85
o External
dimension i 80 60
. — (mm) 400 400

O &R EB5e @ Components

ﬁﬁ@

AEREL O4mm OERBREIY NO—5—,

High-precision controller with a measurement accuracy of = 0.4mm.

{14 Specific!a!ti!o!n’

WA D 120
I_Extern_al W 75
dimension
(mm) H 162
v hO0—>— BIR AC100 ~ 240V ma
Controller Power source 100-240 V AC compatible

24/ HRE s Parts/Con:s:u::mab:I:es
(ARSFEBR Maintenance parts 8/ Function/Application

RT3 A—E— A RE>VDAIESTE TS AT
Potentiometer Guide pin position measurement 7‘3/{_ Hf./ KCF 73/.( '\t./ P51, P52
ATl EEENDAH Guide pin KCF guide pin
AT SEELCED St U IS )L
Water-cooled jacket Cooling around electrodes TEREMS Y hA Our original electrode P.53
For lower UFQ i3
electrode nut UEO ele?[rgde P55




SHINKOKIKI ()

v ~ ~ » 9 » —_—~ Al s
J0vzovavkibhey NPy IRREHEE KV F— 2= REtxEs E
Projection bolt setup defect detection equipment Bolt runner Quality judgement equipment

100 ¥U—=X 100 Series BE Featur:e:s’
FEmREabhEnT 5 wF TalgE,
MILEYF, RILNRTA—DEHEDET
= BIRVRIL M ZITH IS
(] NEBDAT v ERTAZERE v,
& One-touch origin alignment.
H Wide range of bolt touch and bolt body combinations
= ¥39 Compatible with balt sizes.
Welding strength is increased by using the attached sticky.
. FEAN  RTUVITTEAH
) (B SD@ Elevation method: Spring-loaded
EB] J W
EAT Yk M4 ~ M8 M10 ~M12
@ | Applicable nut
J?Lj"we U LS — Holder 25 X 225 ¢»32 X 225
g febdBhrlE AT VFE AT VFLE
(95 Anti-deflection Sticky included Sticky included
=\ ST D 35 35
External dimension | W 35 35
(mm) H 425 425
200 YU—=X 200 Series
R Featunres
ERabhEnNT 5y F THEE,
42 MILEEZvF, RILMRT 1 —DEHFEDE TRILWVRIL A X
o ([CHFIivs
] One-touch origin alignment.
o Wide range of bolt sizes can be accommodated by combination of
02y bolt touch and bolt body.
o FBAX R TUIJTHAR
{iﬁ SD@ Elevation method: Spring-loaded
B BAF Y . .
s Applicable nut M4 ~ M8 M10 ~Mi2
LS — Holder p25 X 225 »32 X 225
. febdBhlE . _
i Anti-deflection
S s [ D 30 2
External dimension| W 60 60
(mm) H 400 400
o i&EpiEf5 @ Components "R @
AEBEL 04mm OEBEIY FO—5—,
High precision controller with measurement accuracy of = 0.4mm.
F£4% Speciticaton)
ST L 120
External dimension| W 75
(mm) H 162
< - BIR AC100 ~ 240V Xt
avh0—5— Power source 100-240 V AC compatible

Controller

8p41/SHFE cufth Parts/Cons:u!:mab:IDes
({RSFEBE Mantenance parts  #8,/Fi# Function/Application

MT VY IIA=T— A REVDAIEET A -
Potentiometer Guide pin position measurement TEREEAET v hH UFO EBi&
e p— e For lower -~ P.58
KeIvowh BIREL DR HE] UFO electrode
- ) electrode nut
Water-cooled jacket Cooling around electrodes




@—

I2AvhvU—-X  FyNREEE | RENTRE
Miss-cut series Nut missing detection equipment Quality judgement equipment
45 Features

FTyNELDZA., ARy MEAINEUCIKRBZREF I DHEE (%) ZE#H.
U=w b AAyFZRBLCTY bOBFEZHRI TV TIN5 A T,
XENDOARRBRZEFTHAEICANTLERD M TILHE L,

TIERRETIE. TREDNARY MEDDIRITT. B0 CRBMITEALCLED L&,
Without a nut, the spot machine has a function ( 3 ) to maintain the pressurized state.
Simple type that uses limit switches to determine the presence or absence of nuts.

% There are many problems with defective products being placed in the finished box out of habituation.

The pressurized condition prevents defective products from escaping the spotting machine and accidentally getting
mixed in with the finished product.

4% Soecification)

SN D 130

I_Extem_al 150
dimension

(mm) H 100




SHINKOKIKI ()

Ty N7y TARHIERK Mrxoo3 DEYEEE

Setup fault detector mr.xo03

Quality judgement equipment

FEREMED R ENEREZAIE - BEfRL. ML, FYyFORTEVZRAT DERE,

Equipment that measures and monitors the travel distance of the upper electrode and detects differences

in bolt and nut height.

O 1ERiEBSE @ Components

JrhO—>—

Controller

BERONAY RCEECEE

REFERAFOE ffﬂﬁb\%@i?ﬁﬁﬁ—fﬁjm
RRahEMND 5 wF TR,

L EREBROD O] B & BE R
AEBELOAmm OEBEIY MO—5—,
mEPEIE 40mm.

Easily mounted to the welder head.

Electrodes currently in use can be used without modification.
One-touch origin alignment.

Monitors the range of motion of the upper electrode.

High-precision controller with a measurement accuracy of £ 0.4mm.
Operating range 40 mm.

18 o)

St D 46 (279)
External dimension W 69.5 (153)
(mm) H 412

() Al BffEEAHFDTE
Dimensions in parentheses () include mounting bracket.

2041 /H @t Parts/Consumables)

HERDHBEFERDCEXDEICIE. KDV UPIVESZBSHSELEE0),
When ordering consumables for equipment, please provide the serial number
of the main unit.

BS AFwv#— .
55 atioky BS M—/DIchBEMEL. BERE UP
= BS horn deflection improved and weld
BS m—/1kbe strength increased.
BS horn stopper

MTF/YaI A= — _FEREBDAIESTA
Potentiometer Pasition measurement of upper electrode
[ESSIVANVIN HERIEE
Detection pad Insulation cushioning material
{148 Soecifcation)
SNEDE D 120
External dimension W 75
(mm) H 162
BIR AC100 ~ 240V N/E\m
Power source 100 V AC to 240 V AC*!

FUBHEITIRICDEE LTS, SHRLES
*1 Please consult with us for overseas Correspondence.



@—

ty NPy IFRBHIEH Mrxo02 . EEERE [
Setup fault detector Mr.x002 Quality judgement equipment

PC TRAY—D_EEM1I=v rEUTTHIBETEL,

(Bt7D PC T RAY—(CEIOHFD1BEICIE. PCTRI—DREZENNEELDET, )

Use as a two-stage detection unit for PC testers.

(When installing on an existing PC tester, the PC tester settings will need to be changed.)

UL —BoxZEERATDTEICEKD. REERDFvE2
EREREAICINA. [Fv NEL] BRAIEEE,
BHEEHEE3mm,

By using a relay box, "no nut" can be detected
in addition to the conventional two-stage nut
detection.

Detection range £=3mm.

£#% specification)

External dimension W 42 (100)
i) H 366

() AlF. BfTEEIAHFDTE
Dimensions in parentheses () include mounting bracket.

{4 specitication)

A4 /3> eOption

SRS D 250 140
External dimension | W 180 100
(mm) H 130 65

JU—2& o
= X
UL — Box (L) UL — Box (S) Buzzer warning
Relay Box (L) Relay Box (S) Lamjpﬁgz:igfaﬁing 0 %
FS-15EX2-BL ) FS-15EX2-BS oty DB 5 5
$3§‘CC7F|J}5H(CU§>1%§‘3\ J:EE@M?TID‘@ZI’ji 3 ‘/(DEYDTT_TU' Stop energiz]ng the SDOt machine
g 0T ] ) ity MEBHERLE o o
E%%[:&Dt(_&\ C*Uﬁﬁti’fﬁb\t’;—i%b‘&)b?ao E¥:‘ﬁﬁ]'g\ C*Egﬁ Spot machine Operation stopped
YA X
e _ 2Ry MEDEI R &> TIE. BN Box DERD T Hiit
For stand-alone use, one of the above options must be REVEANBHET. BHICCERI T
installed. ] ]
Not available for some welding machines. Please contact us Depe.ndm.g on the control .mecha.imsm o the. .SDOt
il machine, it may not be possible to install an additional

box.
Please consult with us in advance.



SHINKOKIKI ()

S P 35 : mEHERSE
/7’ Lwv—vw Pressure judge Quality judgement equipment
Ehtyd—a1zvhk 454R Features
(€:N7)
Pressure sensor unit vy (FOYVIovasn),
e b8 HS— (FAVrovav), EFy s (8

40w b)) DREDBHHEIEE,
B, ML hDOYAZGEW, W)L hDTOY T
EAHEH— 2322 ULOBRHICH .

_—
PRl SEnser Capable of detecting the front and back of

o
washers (with projection), collars (with projection),
and hex nuts (with pilot).

In addition, it can detect different bolt sizes and
different bolt projections.

f#% Soecification)

S P T D 180
External dimension W 80
(mm) H 220

e dVNO—S—&EFENEYT—OZvNE. BYNRFEE
HOFRT (BY MBI ERERFIZFNTHDOEEA.)

s KEBDHERERDCEXDRICIF. KEDY U7V ESZE
BHRSELIEEW,

* The controller and pressure sensor unit are sold
as a set. (The set does not include the dedicated
electrodes.)

« When ordering consumables for equipment, please

(IEED) (f0mE) provide the serial number of the unit.

(Front) (Side)

[Ty v—IvwI|
EEfRES!

[ Pressure Judge |
Video now available!

{145 Specification)

O 1ZR L5 e Components

HETE D 250
External dimension W 180
(mm) H 130
JrvbhO—>— =B
Controller Power source ACTO0V

( MR TFE \
Detection method

BENS T /7—ZBEHTEIBEICLCI7—DENZFAILCREDHEZTLE T,

Air is blown out from the electrode and the air pressure is measured to determine if it is good or bad.

%l

Example of detection
_ NEFvE Oy kph) . .
ﬁj—%ﬁi %rﬁ_‘i /T\)L/ '\-U—’rllilz\ 7D:/IQ:JE\/ELJ\
Color inside out Hexagon nut (with pilot) Different bolt size

) Difference projection
Inside out Arel




%a)ﬂi.’. Other




SHINKOKIKI ()

ﬁs = DI BS horn receiver Swallow %ﬁg

R Featues)

BS M— e b TEZBRIELE T,

febhdhEadE CO—IICMEMBEYICHDD. FUZERBSULE T,
REBBIZEIOSEVERIEEE.

NN EEEEYaN 1=

Prevents BS horn deflection.

Reduced deflection ensures proper pressure is applied to the workpiece and reduces
spatter.

Simplified structure that takes up little space for installation.

Easy installation and adjustment.

{148 specification)

££& Over-all length 740 ~ 860mm
A 8 & Diameter ¢ 30
Main body part
EE Weight 2.0kg
TN FEEE Adjustment range 120mm
Adjustable section #5788 Capacity 16.6kN
gl I vANER BS ih—% (88
Mounting example Adjustment section BS Horn receptor
O = EeyEdE Ly
BHIKKEBEREE JA—5—I—b Z 0t
Cooling water volume monitoring equipment \Water gate Other

R Features)

JO—RAYFICKDBAKDRAEZERL. REBUTDHZE.
BAEEOEFZELESEET,

A flow switch monitors the flow rate of the cooling water and stops the
welder operation if the flow rate is below a set value.

{4 specification)

ol Box e Control box

P Box . m=x  Fwes
Control box

Nt D 140
External dimension | W 100
(mm) H 65

B8R Power source AC100V (50/60Hz)

®7Z{X e Main body

SNRTsE D 200
External dimension | W 85
(mrm) H 116
R—AZw I R—AMWE 9mm H
Hose nipple Hose inner diameter 9mm

o AEGRFHE Box (FS-WG-S) &A1& (FS-WG1) Oy hRFEELEDE T,
* This product is sold as a set consisting of a control box (FS-WG-S) and
main unit (FS-WGT).



{RT ;H#¥ESBan
A 4 = | I:II:I Maintenance / Consumables




SHINKOKIKI ()
FyITUPLIVEER 75T HFESm {RF, eSS

Maintenance / Consumable parts for tip recycling equipment ~ Maintenance / Consumables
HvS—RH FvvSFwvIH For Cutter blade/Cap tip

AL p13
Atype 613 TK40R X pB6 X R8 X 13

Al 916

A type ¢16
PRI 913/ 016 _ -
Cappy Ptype 13/ 016
FEI 913 /916
Ftype 13 /16
ARl 913 " ¢16
Atype 13 /916
) EZ 913 916 _ -
PCFvIRLyH— E type 13 /916
_ PHEI 913,/ 016 - -
PC tip dresser Ptype 013 /16
FEl 913 /916
Ftype 913 /916

FrvbE— TKA40R X p6 X RB X 16 -

B X BA #BHE carbide -




®—

FvIUYATIVRER (R5F, HEERm

Maintenance / Consumable parts for tip recycling equipment

Hy&5—XH F+wFFwTH For Cutter blade/Cap tip

A Atypel @13 /916 8R ¢6 40R — AB X 40R-8R —
TRM R—)LEX R vt — EEEtype| @13 /@16 - ¢6 40R 45° EB X 40R-45° —
TRM drilling machine  |P#Ptype, 913 /016 — ¢6 40R B60° P6 X 40R-60° -
dresser »13 — = — = 13X F —
1)

FEFWE 6 = = = = 16 x F -
CBM-117 R—)UBEHES (AR Atype| @13/ 016 8R ¢6 40R - AB X 40R-8R -
FYIRLUYT—  pmpyeel ¢13/916 | - »6 40R | 60° P6 X 40R-60° -

CRM-117 Drilling machine 013 13 X F

mounting type FRF type

Tip dresser 016 — — — — 16 X F -

05 40R - 40R X p5 X BBR X 913 -
013 6.5R — - 95 XBBR X @13 -
’ 06 40R - 40R X o6 X BBR X ¢ 13 -
— - 96 XB65HR X @13 -
A # 05 40R — 40R X pb X8R X @16 -
A type - - 5 X8R X opl6 —
40R - 40R X 96 X8R X 16 -
016 B8R ©6 — - 96 X8R X @16 -
08 40R — 40R X p8 X8R X @16 -
- — $8 X8R X 16 -
o122 6R = = = B6R X opl2 =
R A ®»13 6.5R = = = 65R X 913 =
Rt;;e ®16 8R = = = 8R X 016 =
SK-10D/SK-11D 16R = = = 16R X ¢ 18 =
H—)ARERATT ?18  o0R - = — [ 20R x 018 <
FUIRLYY— 3 - 5 40R | B0° | 40R X 96 X 60° X 916 | «
¢ ¢ — B60° 96 XB60° X @13 -
DriIIing.machine 16 _ 06 750 40R X zpeo X 75 X pl6 -
mounting type _ 60 p6 xX60° X ¢lb6 b
Tip dresser 75° 6 X75 X @pl6 -
04 40R 9Q0° 40R X p4 X 90° X ¢18 -
P #I — 9Q0° p4 xX90° X ¢18 h
P type 40R 90° 40R X pb X 90° X 18 -
05 120° 40R X p5 X 120°X ¢ 18 -
018 _ _ Qo0r p5 X90° X ¢18 b
120° 05 X 120° X ¢ 18 -
A0R S[oN 40R X B X 90° X 918 -
06 120° 40R X o6 X 120°X ¢ 18 -
_ S[o 96 X90° X @18 -
120° 06 X 120° X ¢ 18 -
F &
e ®18 = = = = F X 918 =
CDMDTA XICAULEUCIF. ZFEETT,
Other sizes are manufactured after receiving an order.




SHINKOKIKI ()

Hwy—F  TFEBEWEA For Cutter blade/Lower electrode

R<T/H#ES o

Maintenance / Consumables

TRM R—)LEEX Ry I — ¢25 25 X F -

TRM drilling machine dresser @30 30 X F <=
Hyy—=H N—XFwTH For cutter blade/base tip

. . ¢B6FH For g6 WBT-S1 & WBT-STrevision -

BTD M—/LERA KL Y— ¢8H Forg8 WBT-S2 e WBT-S2 revision =

BTD drilling machine dresser for base tip

72wk Forflat

WBT-S3 & WBT-S3 revision

t

HwH—ikJLS— Cutter holder

F+wvtE— Cappy

P13 916

'

P13/ 916

PC Fwv 7R wH— PC tip dresser

®13 916

t

13/ 916

v —4—2X Cutter case

18A X 99 —
18AXp10 -
SK-10D / SK-11D 18A H 18AXgp12 -
R—)VBES BT v T R P — For18A 18AX @13 b
1BAXp16 -
SK-10D / SK-11D 18AXp16.6 -
Drilling machine mounting tip dresser 25A X 16 —
25A H DA X 19 g

For 25A ¢
25A X ¢ 20 =

FywIT+v>/2 Chuck shank

+vwP— Cappy 016 Mg X w B _

Cone/slit type

EBERRIVSY— FvwvTIFwvTH For Eectrode holder/Cap tip

TRM R—=JLEH L v —

TRM drilling machine dresser

|
A/Péé;e/v;t%tﬁ??fs?lﬁms 013 X010-T-1.796 -
|
A/P/AF/tyEe/wli:t%iiﬁs]ffTrwm 016 x9126T-1./96 -
Fo'f Eﬂ‘%jd’ﬁg E13x¢10-T-1 /96 -
FOEr Eét%f(ﬁe E16 X9 12.6T-1 /96 =

EBiRRILSY—  TEPEWER For Electrode holders/Lower eectrode

TRM R—)LEEX Ry —
TRM drilling machine dresser

p25 K For 925

— ¢ 25

¢®30 A For 30

— ¢ 30

TPIvANIVT

TRM R—)LEEX Ry I —
TRM drilling machine dresser

TSR 4 (BEBEH =11mm)
Plus 4 (thickness of electrode = 11 mm)

TSR 4
Plus 4

TSR 5 (BagBEH =10mm)
Plus 5 (thickness of electrode = 10 mm)

TSR 5
Plus 5




Q—

EEMNEEEBR (R HEBR
Maintenance / Consumable parts for productivity enhancers
> v RV MEFSEEERGR  Nut/bolt supply parts

M4 150 F1-PR-M4-150ST -~
200 F1-PR-M4-200ST —
M5 150 F1-PR-M5-150ST -~
200 F1-PR-M5-200ST -~
e 150 F1-PR-M6-150ST —
D R ME 200 F1-PR-M8B6-200ST -~
150 F1-PR-M8-150ST -~
Fiee M8 -M10 200 F1-PR-M8-200ST p
150 F1-PR-M12-150ST -~
M12 - UNF 200 F1-PR-M12-200ST -~
M14 150 F1-PR-M14-150ST -~
200 F1-PR-M14-200ST -~
M4 150 F1-PRCY-M4-150ST -~
200 F1-PRCY-M4-200ST =
M5 150 F1-PRCY-M5-1508T -~
200 F1-PRCY-M5-200ST =
S [T 150 F1-PRCY-M6-150ST =
Dy E2U> S S 200 F1-PRCY-MB-200ST =
) ) 150 F1-PRCY-M8-150ST <=
N Cylinder with rod M8 - M10 500 E1-PRCY-M8-200ST -
. ) 150 F1-PRCY-M12-150ST =
71{9/_71 iz - U 200 F1-PRCY-M12-200ST P
Z—h M14 150 F1-PRCY-M14-150ST =
NP — -PRCY-M14-200ST -~
Dragon
Phoenix DY VAER—A _ _ _ B
Star Urethane square hoses
Smart M4 = = FS-RP-M4
Bamby e M5 - - FS-RP-M5
B2 VAWE S M6 = = ES-RP-M6
) M8 - M10 = = FS-RP-M8
ReelRxE S M12 = = FS-RP-M12
M14 = = FS-RP-M14
TRy MR B B B
Magnetic board FS-MGP-N
{IO—<J%Y MR _ _ _
Yellow magnet board EEAIER
B B ®e® 008 a.
Wire diameter ¢ 0.8 FS-TB-BO8
= ®E 009
— — ) ) FS-TB-BO9
SR R Black | Wire ;;:Zt?rép 09
WRAE .
- - . FS-TB-B10
Spring-loaded hinges Wire diameter 1.0
— — iR N FS-TB-TGS
— — Silver h Middle FS-TB-TGM
- - HIH! A FS-TB-NMA
— — Cutting B FS-TB-NMB
RILRT4—5— ML VA IT— B B ~ B
Bolt feeder Urethane round hose

MDD YA XDENHENDET, % Orders for other sizes are also available.



SHINKOKIKI ()

R<T//H#EEBom

Maintenance / Consumables

HA4 RE> Guide pin

M4 X 4.8 FS-GP2-M4 X 4.8
M4 X 5.0 FS-GP2-M4 X 5.0
M5 X 5.8 FS-GP2-M5 X 5.8
M5 X 6.0 FS-GP2-M5 X 6.0
M6 X 6.5 FS-GP2-M6 X 6.5
M6 X 6.8 FS-GP2-M6 X 6.8
UhZB 2 DR+ (FS-GP2 f) MB x 7.0 FS-GP2-MB x /7.0
M8 X 8.8 FS-GP2-M8 X 8.8
Pin-no-suke 2 Robosai (For FS-GP2) M8 X 9.0 FS-GP2-M8 X 9.0
M10 X 10.8 FS-GP2-M10 X 10.8
MIOX 11.0 FS-GP2-M10 X 11.0
M11 X 13.0 FS-GP2-M11 X 13.0
M12 X 12.8 FS-GP2-M12 X 12.8
M12 X 13.0 FS-GP2-M12 X 13.0
M14 X 149 FS-GP2-M14 X 14.9
M4 X 4.8 =
M4 X 5.0 ~
M5 X 5.8 -
Chs 3 Mo x5 -
FULRMILS— Ot M6 > 6.8 =
=R — @Oy MAYASFREY) 148 < 700 -
M8 X 8.8 <=
Pin-no-suke 3 Robosai M8 X 9.0 p
Sp?\;téfglr]eﬁglgglrder (Ceramic pins for robot) M10 % 10.8 -
M10 X 11.0 &=
M11 X 13.0 =
M12 X 12.8 <=
M12 X 13.0 =

MDD YA XDEXNHEDET, % Orders for other sizes are also available.

TEpEHEF v N Lower electrode for nut

4.8 825B0-4.8
®»5.0 825B0-5.0
5.8 825B0-5.8
6.0 825B0-6.0
6.5 825B0-6.5
o - ®25 ©»6.8 825B0-6.8
é('fjif}'i I{;’J 'JEE%“E 07.0 825B0-7.0
T B 2JUF T 2 E ¢80 SSSlsl0sc 0
Pin-no-suke . _ »8.8 825B0-8.8
Our original electrode | Spanner hook 2 sides »9.0 825B0-9.0
(Lowevrvslffﬂgde for ©10.0 825B0-10.0
®»10.8 830B0-10.8
®11.0 830B0-11.0
®»11.8 830B0-11.8
¢3S0 »12.0 830B0-12.0
128 830B0-12.8
®»13.0 830B0-13.0




@—

EEMR EREA (RS HFEERm

Maintenance / Consumable parts for productivity enhancers

WA ®5.1 3 TDWC-S25-T3-5.1
®»5.3 3 TDWC-S25-T3-5.3
M5 ¢6.1 3 TDWC-S25-T3-6.1
225 ¢6.3 3 TDWC-S25-T3-6.3
MG ¢7.1 3 TDWC-S25-T3-7.1
BfOvyvFvT 7.3 3 TDWC-S25-T3-7.3
9.1 3 TDWC-S25-T3-9.1
UFO &1 Stepped washer tip M8 ¢
(FwvhH) ®»9.3 3 TDWC-S25-T3-9.3
UFO ZJCFH T 2 & Ve ®9.1 3 TDWC-S32-T3-9.1
electrode &) ®»9.3 3 TDWC-S32-T3-9.3
(for nut)
Serner ersine e o11.1 € TDWC-S32-T3-11.1
2-sided type 032 »11.3 € TDWC-S32-T3-11.3
UNE o121 € TDWC-S32-T3-12.1
OhZ Bl »12.3 € TDWC-S32-T3-12.3
Pin-no-suke S »13.1 3 TDWC-S32-T3-13.1
»13.3 3 TDWC-S32-T3-13.3
Fy IS — (2HE) o5 _ _ 55 | TDWH-B25-55
TiD holder (2 sides) @ 85 TDWH-B25-85
55 | TDWH-B32-55
¢ 32 - -
8.5 | TDWH-B32-85
FyIRT A — i 5.0 = TNOB-S2515-H1421-5.0
(VA RZAD) 5.2 = TNOB-S2515-H1421-5.2
Tip body $6.0 | — | TNOBS2515-H1421-60
(With viton) M5
025 6.2 = TNOB-S2515-H1421-6.2
i 7.0 = TNOB-S2515-H1421-7.0
o072 = TNOB-S2515-H1421-7.2
e 9.0 = TNOB-S2515-H1421-9.0
9.2 = TNOB-S2515-H1421-9.2




SHINKOKIKI ()

R<T/H#ESb o

Maintenance / Consumables

FyIRFA— ®9.0 — | TNOB-83215-H1421-9.0
U RVAD) M8 ©9.2 — | TNOB-83215-H1421-92
Tip bod ®11.0 — | TNOB-83215-H1421-11.0
(With viton) . MIO o2 —  |TNOB-S3215-H1421-11.2
¢ UNE @120 —  |TNOB-83215-H1421-12.0
plee — | TNOB-83215H1421-122
Ve | @130 — | TNOB-83215-H1421-13.0
p132 — | TNOB-83215-H1421-13.0
W ®5.0 — | TNOB-52510-W0815-5.0
5.2 — | TNOB-52510-W0815-5.2
" ®6.0 — | TNOB-S2510-W0815-6.0
U 2 E 525 6.2 — | TNOB-S2510-W0815-6.2
54T V6 ®7.0 — | TNOB-52510-W0815-7.0
= ©7.2 — | TNOB-52510-W0815-7.2
Spanner hanging | 7 ¥ T« — ?9.0 — | TNOB-82510-W0815-9.0
UFO =8 | 2-sidedtype | A HhV/RRL) M8 92 | — | TNOB-S2510-W0815-9.2
(Fvhm) (Wi;'guliov?tom . ?9.0 — | TNOB-S3210-W0815-9.0
e ©9.2 — | TNOB-83210-W0815-9.2
clectrode vio | @110 — | TNOB-S3210-W0815-11.0
e ) 532 ®11.2 —  |TNOB-83210-W0815-11.2
UNE @120 — | TNOB-83210-W0815-12.0
p12.2 —  |TNOB-83210-W0815-12.2
Vo | @130 — | TNOB-83210-W0815-13.0
®13.2 — | TNOB-S3210-W0815-13.2
TNBP-T2-13- O00.0J
UhZBh 025 O b DFE (FyvTmT+DILE+ 0.2 ZBZICLTTELY)
[J[]; Hole diameter of viton (use the hole diameter of tip
Pin-no-suke JNA R body + 0.2 as a guide)
Viton TNBP-T2-17- .00

OCA b DA (FyIRTA DR+ 0.2 ZERICLTTEL)

¢32 [JJ : Hole diameter of Viton (use the hole diameter of tip
body + 0.2 as a guide)
BT Ty M4 ¢5.1 3 UFO-TIP-28 X 5.1
Stepped washer tip 028 M5 ®»6.1 3 UFO-TIP-28 X 6.1
M6 ¢7.1 3 UFO-TIP-28 X 7.1
M8 ®9.1 3 UFO-TIP-28 X 9.1
2T 6 & M10 o11.1 3 UFO-TIP-35 X 11.1
G4 ¢35 UNF pl12.1 3 UFO-TIP-35 X 12.1
Mi12 ®13.1 3 UFO-TIP-35 X 13.1
Spanner hanging M4
hexagonal type | Fv L5 — (65) M5
Tip holder 028 M6 — = UFO-CAP-28
(Hexagon) M8
PR—— M10
1] 035 | UNF - - UFQ-CAP-35
Mi12
FyIRT4— M4 ®5.1 = UFO-NUT-BODY-M4
Tip body 028 M5 ®6.1 = UFO-NUT-BODY-M5
M6 o7.1 = UFO-NUT-BODY-M6
M8 ®»9.1 = UFO-NUT-BODY-M8
M10 p11.1 — UFO-NUT-BODY-M10
¢35 UNF p12.1 - UFO-NUT-BODY-UN
Mi2 ®»13.1 - UFO-NUT-BODY-M12

$HAZXROEIRIE. BSEMOBATEDERT, FULEF,. BEEROICTHEHIEE0,
¥ Various sizes and shapes are available. Please contact our sales office for details.



mBHIERER (R<F HFEERm _
Maintenance / Consumable parts for quality judgement equipment
HA4 RE> Guide pin

46 KCF-M4-4.6
48 KCF-M4-4.8
5.0 KCF-M4-5.0
52 KCF-M4-5.2
M4

58 KCF-M4-5.8
6.6 KCF-M4-6.6
68 KCF-M4-6.8
7.0 KCF-M4-7.0
5.0 KCF-M5-5.0
52 KCF-M5-5.2
5.4 KCF-M5-5.4
56 KCF-M5-5.6
58 KCF-M5-5.8
e 6.0 KCF-M5-6.0
6.2 KCF-M5-6.2
6.4 KCF-M5-6.4
el KCF-M5-6.6
6.8 KCF-M5-6.8
7.0 KCF-M5-7.0
8.0 KCF-M5-8.0
6.0 KCF-M6-6.0
6.2 KCF-MB-6.2
s 6.4 KCF-M6-6.4
e 6.6 KCF-MB-6.6
FuRSYF— KCF i+ REY 6.8 KCF-M6E-6.8
7.0 KCF-MB-7.0
PC tester KCF guide pin 7.0 KCFE-MB-7.2
Pcl\ﬁﬁftri;ﬁeer“te M6 7.4 KCF-MB-7.4
76 KCF-MB-7.6
7.8 KCF-MB-7.8
8.0 KCF-MB-8.0
8.2 KCF-MB-8.2
86 KCF-MB-8.6
8.8 KCF-MB-8.8
9.0 KCF-M6-9.0
8.0 KCF-M8-8.0
8.2 KCF-M8-8.2
8.4 KCF-M8-8.4
8.6 KCF-M8-8.6
8.8 KCF-M8-8.8
9.0 KCF-M8-9.0
e 9.2 KCF-M8-9.2
9.4 KCF-M8-9.4
96 KCF-M8-9.6
9.8 KCF-M8-9.8

100 KCF-M8-10.0

10.4 KCF-M8-10.4

106 KCF-M8-10.6

108 KCF-M8-10.8

M6E/M8S 35 8.8 KCF-M6/M8 x 8.8
MB/M8 dual use 9.0 KCF-M6/M8 x 9.0




SHINKOKIKI

1R~/ /H#%EEPom

Maintenance / Consumables

H4 RE> Guide pin

10.0 KCF-M10-10.0

10.4 KCF-M10-10.4

10.6 KCF-M10-10.6

10.8 KCF-M10-10.8

11.0 KCF-M10-11.0

11.2 KCF-M10-11.2

11.4 KCF-M10-11.4

M10 11.6 KCF-M10-11.6

11.8 KCF-M10-11.8

12.0 KCF-M10-12.0

12.2 KCF-M10-12.2

12.4 KCF-M10-12.4

12.6 KCF-M10-12.6

12.8 KCF-M10-12.8

13.0 KCF-M10-13.0
- ]]_4 KCF-1=2J71-11.4

PC FR&5— KCF-Unify-11.4
PCTAY—TF o KCF-1=774-11.8

FTYhSYF— KCF A1 rEY 11.8 KCF-Unify-11.8
PC tester KCF guide pin 12.0 KB o7 -120
PC tester Petite KCI;CF-EJmfy-] 2'102 4

Nut runner 1= 124 KC%—Urif}y-TEA :

: KCF-1=774 -12.6

Unify 128 KCF—Unif;/-/]rE.S
128 KCF-1=J7-12.8

KCF-Unify-12.8
150 KCF-1=774 -180

KCF-Unify-13.0
128 KCF-1=J7-13.8

KCF-Unify-13.8

12.6 KCF-M12-12.6

12.8 KCF-M12-12.8

13.0 KCF-M12-13.0

o 13.4 KCF-M12-13.4

13.8 KCF-M12-13.8

14.0 KCF-M12-14.0

14.8 KCF-M12-14.8

15.0 KCF-M12-15.0

% COMICERCETA X TER - MEOHA REVZRDHEA THEOE T,

Fllld. ABBABBAHYOI ZCEVCE<H. BEROICTHERUIZE,.

% In addition to the above, guide pins of various sizes, shapes, and materials are available.

For details, please refer to our welding electrode catalog or contact our sales office.



3 B ————————

mEFIERER (R~ 'HFESPan _
Maintenance / Consumable parts for quality judgement equipment
H4 RE> Guide pin

X
A 4.8 M4 X 4.8
5.0 M4 x 5.0
5.8 M5 x 5.8
M5 6.0 M5 X 6.0
W . >< .
— 6 6.8 M6 X 6.8
PCFR5— | (ORyMEYASFREY) 70 MB > 7.9
8.8 M8 X 8.8
PC tester Robosal M8 9.0 M8 X 9.0
(Ceramic pin for robot) 108 M10 x 10.8
M10
1.0 M1O X 11.0
M11 13.0 MI11 X 13.0
12.8 M12 x 12.8
M1z 130 M12 X 13.0

¥ COMITHRLETA X I - MBEOHA REVZRMDRHA THEDET,
M. BARBAERAYOIECEBUERELD. BEROCSHEKIZE0,

¥ In addition to the above, guide pins of various sizes, shapes, and materials are available.
For details, please refer to our welding electrode catalog or contact our sales office.

TEpEIEF v N Lower electrode for nut

048 825B0-4.8

050 825B0-5.0

058 825B0-5.8

06.0 82580-6.0

065 825B0-6.5

PC 7245 — 25 ¢»6.8 825B0-6.8
e s AUV LR 2JCFHT 2 @ 2 SooBY 2
(D T)URF v NATERER) ®8.0 825B0-8.0

- Spanner hook 2 ¢88 82580-88

Potestr | S | s
PC tester Petite »10.0 855B0-10.0
I EIERS 0108 830B0-10.8
0110 830B0-11.0

0118 830B0-11.8

@30 0120 830B0-12.0

0128 830B0-12.8

0130 830B0-13.0

¥ COMISHRATETA X K - MEBOHA REV ZRDRHATHEDF T,
SME. BABEABMAYOIZCEV <N, BEROICTHHKSIESL,

¥ In addition to the above, guide pins of various sizes, shapes, and materials are available.
For details, please refer to our welding electrode catalog or contact our sales office.



SHINKOKIKI ()

TFEREWRF v N Lower electrode for nut

1R~/ /H#%EEPom

Maintenance / Consumables

PCFTR&—
PC T R5—
P

PC tester
PC tester
Petite

UFO EtR
(Fwv B

UFO
electrode
( For nut)

A)FHT 2 E
e

Spanner hanging
2-sided type

4 ?5.1 3 | TDWGC-S25-T3-5.1
?5.3 3 | TDWC-S25-T35.3
Vi ?6.1 3 | TDWC-S25-T3-6.1
BHDYUvFYT | o5 ?6.3 3 | TDWC-S25-T3-6.3
V6 7.1 3 | TDWC-S25-T3-7.1
Stepped washer tip »7.3 3 TDWC-525-T3-7.3
Vg ?9.1 3 | TDWCS2573-9.1
9.3 3 | TDWC-S25-T3-9.3
VIS ?9.1 3 | TDWC-S32-T3-9.1
09.3 3 | TDWC-S32-T39.3
vio @11 3 | TDWC-S32-T3-11.1
530 »11.3 3 | TDWC-S32-T3-11.3
UNE 212 3 | TDWC-S32-T3-12.1
»12.3 3 | TDWC-S32-T3-12.3
vip @18 3 | TDWC-S32-T3-13.1
133 3 | TDWC-S32-T3-13.3
FyIHILS— (2H) 55 | TDWH-B25-55
Tip holder (2 sides) ®25 - - 85 TDWH-B25-85
55 | TDWH-B32-55
032 B B 85 | TDWH-B32-85
4 ¢5.0 — | TNOB-S2515-H1421-5.0
5.2 — | TNOB-S2515-H1421-5.2
Ve ?6.0 — | TNOB-S2515-H1421-6.0
FyIRF— 6.2 — | TNOB-S2515-H1421-6.2
(A hVAD) @25 V6 7.0 — | TNOB-S2515-H1421-7.0
Eh—, p7.2 — | TNOB-S2515-H1421-7.2
(With viton) Vi ?9.0 — | TNOB-S2515-H1421-9.0
9.2 — | TNOB-S2515-H1421-9.2
Vg ?9.0 — | TNOB-S3215-H1421-9.0
9.2 — | TNOB-S3215-H1421-9.2
vio L2110 — | TNOB-S3215-H1421-11.0
- p11.2 — | TNOB-S3215-H1421-11.2
UNE L2120 — | TNOB-S3215-H1421-12.0
o122 — | TNOB-S3215-H1421-12.2
vio @130 — | TNOB-S3215-H1421-13.0
132 — | TNOB-S3215-H1421-13.0
V4 ?5.0 — | TNOB-S2510-W0815-5.0
5.2 — | TNOB-S2510-W0815-5.2
- ?6.0 — | TNOB-S2510-W0815-6.0
525 6.2 — | TNOB-S2510-W0815-6.2
Vi 7.0 — | TNOB-S2510-W0815-7.0
7.2 — | TNOB-S2510-W0815-7.2
Fy IR~ ?9.0 — | TNOB-S2510-W0815-9.0
U hRL) M8 92 | — | TNOB-S2510-W0815-9.2
Tip holder Vg ?9.0 — | TNOB-S3210-W0815-9.0
(Without viton) 9.2 — | TNOB-S3210-W0815-9.2
vio @110 — | TNOB-S3210-W0815-11.0
- p11.2 — | TNOB-S3210-W0815-11.2
UNE L2120 — | TNOB-S3210-W0815-12.0
o122 — | TNOB-S3210-W0815-12.2
vip @180 — | TNOB-S3210-W0815-13.0
132 — | TNOB-S3210-W0815-13.2

$UAZXANOEKG, SO THDFT, FULF. EEROCTHRLIEEL,
¥ Various sizes and shapes are available. Please contact our sales office for details.



@—

mBHERER (R<F HiESlm _
Maintenance / Consumable parts for quality judgement equipment
TEREMRSw N Lower electrode for nut

PC F7R5—
PC 7 RX45—
o
PC tester
PC tester
Petite

UFO &1
(FvhA)
UFO
electrode
( For nut)

Z)NFHENT 2 E
51T
Spanner hanging
2-sided type

JNA B

Viton

TNBP-T2-13- (.1
O A YDA (FyTRT DR+ 0.2 ZBRICLTTEL)

¢25 [J[7: Hole diameter of viton (use the hole diameter of
tip body + 0.2 as a guide)
TNBP-T2-17- .
032 OO A FDAER (FyIRT«DILE+ 0.2 ZBZRICUTRELY)

[ : Hole diameter of viton (use the hole diameter of
tip body + 0.2 as a guide)

$UAXROERE. SERORATEDFRT, FULE. BEEROICTHEMLIET0,
¥ Various sizes and shapes are available. Please contact our sales office for details.

TEREHEF v N Lower electrode for nut

FTYRSYF—
K-F

Nut runner
K-F

UFO Ef&
(Cab2y:2))

UFO
electrode
( For nut)

AINTHT 6 &
e

Spanner hanging
hexagonal type

BNDYYvF v M4 »5.1 3 UFO-TIP-28 X 5.1
Stepped washer tip 028 M5 »6.1 3 UFO-TIP-28 X 6.1
M6 071 3 UFO-TIP-28 X 7.1
M8 9.1 3 UFO-TIP-28 X 9.1
M10 ®11.1 3 UFO-TIP-35 X 11.1
»35 UNF p12.1 3 UFO-TIP-35 X 12.1
Mi12 ®13.1 3 UFO-TIP-35 X 13.1
F v IRV — M4/ M5
(67) pe8 / M6/ - - UFO-CAP-28
Tip holder M8
(Hexagon) M10 /
— 935 UNF/ - - UFO-CAP-35
_man M12
. M4 5.1 - UFO-NUT-BODY-M4
FYIRT 4 — M5 06.] — | UFO-NUT-BODY-M5
Tip body pes8
M6 071 - UFO-NUT-BODY-M6
M8 9.1 - UFO-NUT-BODY-M8
M10 ®11.1 - UFO-NUT-BODY-M10
935 UNF pl12.1 - UFO-NUT-BODY-UN
Mi12 »13.1 - UFO-NUT-BODY-M 12

A XNROEIRG, SEEORATEDFET, FULEF. BEEROICTEHIES0,
¥ Various sizes and shapes are available. Please contact our sales office for details.



SHINKOKIKI ()

R<T/H#ESboa

Maintenance / Consumables

TERE#RN)U M Lower electrode for bolt

BAET M4 ®5.1 3 TDWC-S25-T3-5.1
FwF 525 M5 06.1 3 TDWC-S25-T3-6.1
Stepped washer tip M6 071 3 TDWC-S25-T3-7.1
M8 09.1 3 TDWC-S25-T3-9.1
M8 09.1 3 TDWC-S32-T3-9.1
532 M10 ®11.1 3 TDWC-S32-T3-11.1
UNF pl12.1 3 TDWC-S32-T3-12.1
M12 ®13.1 3 TDWC-S32-T3-13.1
FyIRLS— (2@)| 025 - - 8.5 TDWH-B25-85
= iR X Tip holder (2 sides) »32 = = 8.5 TDWH-B32-85
(L/JTT i ﬁg‘—) 2F
2 M=
UF(OFOerliﬁtgde Spanner
hanger
2 sides M4 8 4 20 4 X 8X20
) 025 M5 9 5 20 5X 9x20
(ZU—7) M6 10 6 20 6 X 10 X 20
M8 12 8 20 8 X 12 %20
5 Saiper M10 14 10 25 | 14x10x25
F;%ijg_ (Sleeve) ?32 M1 15 1 25 | 15x 11 x25
F24—
5= M12 16 12 25 168X 12 X 25
PC tester
PC tester
Petite

TBS-A30-42
HA RINAT TBS-A30-52

Guide pipe TBS-A30-62
TBS-A30-82

— 20 |TBOB-S2515-H20185-04 *'

oY 2T M 942 30 [TB0B-S2515-H30185-04 *
iblbody 20 |TBOB-82515-H20188-05 *'
25 MS 952 30 [7B0B-S2515H30185.05 *

V6 »6po | 20 |TBOB-S255:H2018506 "

' 30 |TBOB-S2515-H3018S-06 *2

20 |TBOB-82515-H20185-08 *

M8 982 35 [TB0B-52515H30185.08 *

M10 | @102 | 25 |TBOB-83215H25225-10*

»32 UNF | @112 | 25 |TBOB-S3215-H25225-11 *

M12 | @122 | 25 |TBOB-S3215H25225-12

T ZU—=TA 2 IARIATA

YA XNROEIREGE, SEIORATEDFET, 5ULKF. BEROICTHERLTETL,
*1 \With sleeve  *? With guide pipe

% Various sizes and shapes are available. Please contact our sales office for details.



mEFIERER (&5 HFEEbm

Maintenance / Consumable parts for quality judgement equipment

TEREH#EN)U N Lower electrode for bolt

13 TBGP-K2513-04
17 TBGP-K2517-04
21 TBGP-K2521-04
M4 040 25 TBGP-K2525-04
29 TBGP-K2529-04
42 TBGP-K2543-04
13 TBGP-K2513-05
17 TBGP-K2517-05
21 TBGP-K2521-05
MS ¢5.0 25 TBGP-K2525-05
29 TBGP-K2529-05
025 42 TBGP-K2543-05
13 TBGP-K2513-06
17 TBGP-K2517-06
21 TBGP-K2521-06
M6 ¢6.0 25 TBGP-K2525-06
29 TBGP-K2529-06
== 'ﬁ o I -
8§8Eﬁ; 2B ‘ 42 TBGP-K2543-06
2 & RIL R HA REY 13 TBGP-K2513-08
(For bolt) o . g
e || G Ve %89 a5 | racekeseoos
PCTAY— 29 TBGP-K2529-08
PC T A5—TF 42 TBGP-K2543-08
PC tester 14 TBGP-K3214-08
PC tester Petite 18 TBGP-K3218-08
22 TBGP-K3222-08
M8 ¢80 26 TBGP-K3226-08
28 TBGP-K3228-08
42 TBGP-K2543-08
14 TBGP-K3214-10
18 TBGP-K3218-10
22 TBGP-K3222-10
M10 ¢100 26 TBGP-K3226-10
28 TBGP-K3228-10
0302 42 TBGP-K3243-10
14 TBGP-K3214-11
18 TBGP-K3218-11
22 TBGP-K3222-1 1
UNF ¢11.0 26 TBGP-K3226-1 1
28 TBGP-K3228-11
42 TBGP-K3243-1 1
14 TBGP-K3214-12
18 TBGP-K3218-12
22 TBGP-K3222-12
M12 0120 26 TBGP-K3226-12
28 TBGP-K3228-12
42 TBGP-K3243-12

*¥TAZXROERIE, SREDEZATHEDET, :2ULIE. BEEROCTEHRLLLZET W,
% Various sizes and shapes are available. Please contact our sales office for details.



SHINKOKIKI ()

TEREH#EMN)U N Lower electrode for bolt

R<T/H#ESboa

Maintenance / Consumables

RILSYF—

Bolt runner

UFO &
GRILV A

UFO
electrode
(For bolt)

PIAvE::1b)
Sh=a )

Spanner
hook
Hexagon
type

FvvT (6A)
Cap (Hexagon)

FvJ

Tip

HA)—

Saiper

T —

Body

AV

Touch

28

M4 ~ M8

18.4

UFO-CAP-28

»35

M10 /2=T 74/ M12
M10 / Unify / M12

23.4

UFO-CAP-35

M4 ¢5.1 3 UFO-TIP-28 X 5.1
028 M5 ¢6.1 3 UFO-TIP-28 X 6.1
M6 ¢7.1 3 UFO-TIP-28 X 7.1
M8 ®9.1 3 UFO-TIP-28 X 9.1
M10 ®11.1 3 UFO-TIP-35 X 11.1
¢35 16554 pl12.1 3 UFO-TIP-35 x 12.1
M12 ®13.1 3 UFO-TIP-35 X 13.1

M4 »4.0 20 1)\~ Saiper M4
M5 5.0 20 4 ){— Saiper Mb
20 4 )\~ Saiper M6
028 MB ©8.0 30 4 ){— Saiper M6-30
20 4 ){— Saiper M8
M8 ¢80 30 4 ){— Saiper M8-30
25 1)\~ Saiper M10
M10 ¢10.0 35 4 ){— Saiper M10-30
¢35 A=TJ7A o o
Unify »11.0 25 1)\~ Saiper UN
M12 ®»12.0 25 1)\~ Saiper M12

M4 ¢ 8.0 29 UFO-BOLT-BODY-M4
M5 ®»9.0 29 UFO-BOLT-BODY-M5
29 UFO-BOLT-BODY-M6
28 M& @100 39 UFO-BOLT-BODY-M6-30
29 UFO-BOLT-BODY-M8
M8 0120 39 UFO-BOLT-BODY-M8-30
34 UFO-BOLT-BODY-M10
MTO 2140 44 UFO-BOLT-BODY-M10-35
935 16;5 A ®»15.0 34 UFO-BOLT-BODY-UN
M12 »16.0 34 UFO-BOLT-BODY-M12

M4 UFO-BOLT-TOUCH-M4
M5 UFO-BOLT-TOUCH-M5
0es M6 UFO-BOLT-TOUCH-M6
M8 UFO-BOLT-TOUCH-M8
M10 UFO-BOLT-TOUCH-M10
¢35 =774 Unify UFO-BOLT-TOUCH-UN
M12 UFO-BOLT-TOUCH-M12

MUAAROBRIE, SEMOFATHOET.

FULE, BEROCCHERLSEE .

% Various sizes and shapes are available. Please contact our sales office for details.



2022.09.1000F



